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 ���������	
 �
�
��
 � ����	
 ������	
 ���	
 �� (�
�
��	
) �
����
  

 !���
� "�#$�
 �����	
% �
����
%100 Mbit/s  

 ������)ITU-R 12/6(  
(2010-2003) 

������� 	
�  

� �	
���� �	

��� ������� � �	��� ����� �
���� ����	��� �
!�� "# ��	�
�� �	!$ �	%�&�� '*+ ,-�
. /��0�� ��	�
#
1-�
��$ 2�34�� ���	���� �	5���� Mbit/s 100 �
!�� "# ��	�
�� �	!$ 6�0. 7�� �$����� ��	�

�� ��	
�� 8-�9� . �������	


���
 
��� �	
��� �� 
���� ��� �� �����	 AES �����	 ��� 48 kHz������	! 
�����	 "��#�	 ���$�� ��! %  ;�
��
�
<=>� � ?�@��� 1 920 × 1 080/60/I �1 920 × 1 080/50/I �1 280 × 720/60/P �720/50/P × 1 280.  

  

 ����8���� �A�B.A� �	
C DE�F�A�B.G� ;���� 8�HG  
�������� 	 
�� 
�  

 I (  � �	J�&=E ��K	��. DI�#  F���&LA� D��M��&�� � �NO-�
. P�J �� �	J�&=E �
$ 2�34=A� �N	O Q-�K� DI "RS
T��8�B&��� �	�	30. ��M	# �
���� ����	��� �
!�� "# ����	���  

(U   ���&V ��K	��. � W

&�. �R� F�N��= 2�34=A� �XO WY�8 �NL��&�� P�J ��	�
�� "# �A�
# �ZGZ [�!+ DI�
Mbit/s 25) �Mbit/s 50 �(Mbit/s 100T  

(\   D�R. D�	&5A� ��R�� DI�T�ZG]�� ��K	��&�� "# �L�� WR� ���&V  
8 (   DI�����8���� �A�B.A� ^���  �	%�&�� _	��. W-4��ITU-R BT.709 �	��
�� `#�a�� ;���� 18��&�� � T?�@���  
+ (   b�cMJ WdR0. �	L�0�� ��	�
��� /�5���� ��	�
��� ��	

��� �%�!5 DI�A  '*+ "# IMe&� T��K	��&��  
� (  '*+ DI� T�KLG�� �f�
��� WK!�� WJI "# �L�� ��	�
# ���� � �g�h�E 8-�S �%�!
��  
i (  \�&=E WhGh � j��!&hG� ��$��� �K$��&# D�R. DI kl �	�	m��� no�Bp�� 2�34=A� �	5�= DI� T/�dK
#  

(?  0&�� ��

&��� ��
�
�� W	%��. q	C ���H kl F���3�� '*+ rE 1�%��� W	�h �����
&�� 6� F1�h���  
�����  

1   DIsKt��� � /8����� ��
�
�� W

&�. 1 �2 � \�&=�� ��K	��. ��#  u�� ���&LA� D��M��&�� � \�&=�� �
$
 1�
��$ 2�34=A� W

&�.Mbit/s 100 .�
���� ����	��� �
!�� �  

2   �� �	%�&�� "R�� .b�	5�v �	%�&�� '*g 1�]&#A� D�R� DI� s#�&�) �	#�M��� Q�RL>� w
$ x�5 7�y q# ��&H
� F(bG]# _	��&�� �	�$�� �I �	��� W	30&��A E �	%�&�� '*g 1�]&#A� W
&R�A   .�	#�M��� Q�RL>� '*+ q	C c��	&h� �
$

 W]# F�	#�M��� �3��� "# ��
�R�� w
$ W

&�.�l"k" �"�5"x F�	O�!�� �XO�R�� ��
�R�� "# �+6{�  w
$ "5 6�
&��
I kl ��
�R�� '*+ W]# 1�

&h� "R�� F�����&��A |�}N� .�	%�&�� '*g �oMJ �I ��~ 1�]&#� �I ��O �!#  
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 �����1  

1 ��	
�� 
���  

 �	

��� ��	�
�� W]# (��=�	���) ��	�
�� "# '6{� �
���� �	��� ����� Qi� ���=E }&� �	~ �	%�&�� '*+ ,-�
.
�0�� ��	�
#�~� .D�R�� �*+ 6{ � /8-��� �
���� ����	��� �
!�� "# ��e�# � �N�	e�. "RS �L F�	!#M�� /��
  �+
WR0�� � "-	�# 1 "# ��e��� x�5 �N�	e�&� �e&=I �� �	5���� /��0�� ��	�
#� �����	���� �	

��� ��	�
�� �f�
# D�O F

�
!�� D-12 .rE �O�@��$�  ���� P�J �KO 7�y�
���� �	��� ����� _�= � ��	�
�� '*+ 1�h�E (DIF)  /M+�J D�R&�
 WR0�� � �!-	��� �	�

�� '*+ W	%��.� .�
�� �	$ ��h *�!# a5 F���&V ��K	��&�1 s
�K�� � �NL�� 8�� 3 �4.  

2   ���������
����� �����	� ��� � �����!"  
  

AAUX �	
� /�5��# ��	�
#(Audio auxiliary data) 

AP1 �
� _	��. ���+ ,-�
#(Audio application ID) 
AP2 ����	O _	��. ���+ ,-�
#(Video application ID) 
AP3 �	5�O /��� _	��. ���+ ,-�
#(Subcode application ID) 
APT �
-�&. _	��. ���+ ,-�
#(Track application ID) 
Arb �v��&5� (Arbitrary) 
AS  ��B# �#�i|�AAUX(AAUX source pack) 

ASC ��B# � }�RH �#�i|�AAUX(AAUX source control pack) 

CGMS ��!�� �	��. /��8E Q�<=(Copy generation management system)  
CM �v�34# �
h�� /����O(Compressed macro block) 

DBN  /������� }��DIF(DIF block number) 

DCT  W��H��	� qd�K&#(Discrete cosine transform) 
DIF �
�� �	$ ��h(Digital interface) 

DRF '��A� }���5 (Direction flag) 
Dseq  q$�&&�� }��DIF(DIF sequence number) 

DSF  q$�&&�� }���5DIF(DIF sequence flag) 

EFC �	
� /�!� ���0. }���5(Emphasis audio channel flag) 
EOB /����O ���� (End of block) 

LF `�.��|# U��h�I }���5(Locked mode flag) 
QNO �	
R&�� }�� (Quantization number) 

QU �	
R. (Quantization) 
Res _LA 1�

&hA i�e�(Reserved for future use) 

SCT }���K�� �� (Section type) 
SMP  8-8�.D�	&5A� (Sampling frequency) 

SSYB �	5���� /��0�� "#�M. /����O(Subcode sync block) 
STA �v�34�� �
h���� /������� q@�(Status of the compressed macro block)  



�������  ITU-R  BT.1620-1  

  

3

STYPE /����� �� (Signal type) 
Syb �	5���� /��0�� "#�M. /���O }��(Subcode sync block number)  
TF 1�h��� }���5 (Transmitting flag) 

VAUX �����	O /�5��# ��	�
#(Video auxiliary data) 
VLC 1���� ��	3&# 6�0.(Variable length coding) 

VS  ���B# �#�i|�VAUX(VAUX source pack) 

VSC ���B# � }�RH �#�i|�VAUX(VAUX source control pack)  
  
  

#$����  

Recommendation ITU-R BS.647 – A digital audio interface for broadcasting studios. 

 �	%�&��ITU-R BR.780  �  `#�a�� ;���� 18��&�� W	N�. �	3$ \�&=�� ��K	��. WJI "# }Rt&�� �	!#M�� /��0�� 6��
#
.�	�	�!3�� �v��>� x�5 ��e��� �	=��M��&��  

 �	%�&��ITU-RBT.1847 �  b�	l��. ��K&��� /��B�� _�=1 280 × 720 F16:9  �X	$ � ;���� `#�a�� 18��.� \�&=�� WJI "#
 88�&��Hz 50.  

Recommendation ITU-R BT.709 – Parameter values for the HDTV standards for production and 
international programme exchange. 

Recommendation ITU-R BT.1543 – 1 280 × 720, 16 × 9 progressively-captured image format for production 
and international programme exchange in the 60 Hz environment. 

Recommendation ITU-R BT.1616 – Data stream format for the exchange of DV-based audio, data and 
compressed video over interfaces complying with Recommendation ITU-R BT.1381. 

3  
�%��� �&
�"�  

1.3  �

� ���
����  

 WR0�� � s�# �+ �
~1 x�5 �N�	e�&� �e&=I �� �	5���� /��0�� ��	�
#� �����	���� �	

��� ��	�
�� �f�
# D�O F
 �
!�� "# ��e���D-12.  

1.1.3  	
��
���������� ������ �  
 DI klU����� ��B�� �=-�R# /���E ��.  ��	%�&�� � /8-��� �����	��� ��
��
��$ �N&f�
#ITU-R BT.709 

�ITU-R BT.1543 �ITU-R BT.1847 ��� .A Q�K� .���=>� q	C q	!B&$ s
-!B�� q	C  

2.1.3  ������� ������ ��
��
  
 88�&�� �!5 �	

��� /����� D�	&5� ��lkHz 48��y �	
R. q# F 16 $&�  �	%�&�� � �O-�
#ITU-R BS.647.  

http://www.itu.int/rec/R-REC-BS/recommendation.asp?lang=en&parent=R-REC-BS.647
http://www.itu.int/rec/R-REC-BT/recommendation.asp?lang=en&parent=R-REC-BT.709
http://www.itu.int/rec/R-REC-BT/recommendation.asp?lang=en&parent=R-REC-BT.1543
http://www.itu.int/rec/R-REC-BT/recommendation.asp?lang=en&parent=R-REC-BT.1616
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3.1.3  ������� ������ �����
  
 �+ �	5���� /��0�� �K�!# � �	!#M�� /��0�� _�= D�R� DI kl�
�~ /��0�� LTC�	%�&��$ ��� DI� F ITU-R BR.780.  

 Q�<!�� � ����	O W.� W~ W$�K� W.� }�� W
9 �	!#M�� /��0�� � W.� W~�7$�0&�� "# �d���� 1 080 × 1 920 b��Y F
"# �d���� �l��&�� Q�<!�� � �
N!# W~ s����	O s�.�� 720 × 1 280 b��Y.  

4.1.3  ����� ����  
 2��p� Q�<= �1 080 × 1 920 W.� � /8�J��� �	5���� /��0�� ��	�
#� �	

��� ��	�
��� �����	��� ��	�
�� D�O F

I FW.� W~ � ��
. F�L�� ����	O�#  2��p� Q�<= �720 × 1 280  "
@ "�	����	O s�.� � /8�J��� ��	�
�� '*+ ��
&O
 2��p� Q�<= "# �L�� W.� /�#1 080 × 1 9202��p� Q�<= � �	5���� /��0�� ��	�
#� �	

��� ��	�
�� D�O �	�5� . 

1 280 × 720  2��p� Q�<= � ��

&��� �K����� ��!$ ��
.1 080 × 1 920 ����	O W.�� ��$�K�� �	

��� ��	�
�� DE .
 2��p� Q�<= � �L��1 080 × 1 920  2��p� Q�<= � s����	O s�.���720 × 1 280  /�L� ��I x�5 ,-�
.

�f�
# .�	
�  
0��� WR1  

������� 	
��� �
��� ���  

  
  

2.3 �
����� ����  

 WR0�� "-	��2  ����� ���!� q$�I rE W.� W~ ��	�
# }-�K.� .�
���� �	��� ����� �!5 2�34�� ���K�� ��	�
�� �	!$
 �
���� �	���(DIF).  

 �	��� ����� /�!� W~ }-�K.� rE �
����10 ) �
���� �	��� ����� ��
$�&.DIF 88�&�� Q�<= � (Hz 60
1 rE� F12  b�
$�&.

DIF  8-8�&�� Q�<= �Hz 50.  

____________________ 

1
  ������ ��	
� ���
�Hz 60  ������� ��� �����Hz 60/1,001.  

1620-01

������� 	
�� 
��� ���� DCT �
��� ����� ����VLC

��
��� � ��� 

����

 ����DIF
DIF

	�!��

SDTI

AES3

"��#$ %#&'

8 bits or more 8 / 10 bits 16 bits 

(�)

 

�

�$ 
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q$�&. W~ D-�R&�� DIF ��	�
�� }��� �	5���� /��0�� }��� �	hI��� }�� "# VAUX  ����	��� }�K��� �

��� }�K���
������� q# DIF :q$�&&�� x�5 �	��&��  

�	hI��� }��:   /��O/�L��DIF

�	5���� /��0�� }��:  D�.����ODIF

 ��	�
�� }��VAUX:  3����O��DIF

�

��� }�K��:  9����O��DIF

����	��� }�K��:  135/����ODIF

~��
 WR0�� � "�	�# �+ 2 /����O W~ D-�R&. DIF "#� F�-��g� ,-�
� ��&��$ �GZ "# 77  ��&��$ }d��.� .��	�

�� �&��$
��	�
�� DIF "# 0 rE 79  WR0�� "�	���3 q$�&&�� � ��	�
�� �	!$ DIF.  

  

0��� WR2  
������� 	���  

 

  
:�	L  

n =  10  8-8�&�� Q�<= �Hz 60  
n =  12 8 8�&�� Q�<= � Hz 50.  

  

 

1620-02

0

 *��+�����DIF 

,-.� %�/0��

H0,0 SC0,0 SC1,0 VA0,0 VA1,0 VA2,0 A0,0 V 0,0 V134,0V133,0V132,0

31 2 79

 %�/0��"���1�� %�/0��"1��1��  %�/0��"�+�#��

2+�����DIF  0,0

"��3#�� ��4

 2+�����DIF n-1,32+�����DIF 0,1

2+����� "�/+
DIF 

"��#&�� %#&5�� ��4 ���	
�� 
��VAUX 6�

�&��- (�7��� ��0�� 

2+�����DIFn-1,0

%�/0�� �48 DIF2+����� �48DIF

 89
:&��DIF

 89
:&�� "�/+DIF

%89
:&�� �48DIF  %�/0�� �48DIF
"�
�;�� 24�< �48

*��=��� �������	
 


>�- 	�8 � *��=���

2+�����DIF  1,0
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0��� WR3  
 ������� � ������� 	���DIF 

 

 

:�	L  
:i /�!K�� }��DIF

= i 0 F1F2F3

:H0,i  /�������DIF�	hI��� }�� � 
:SC1,i rE SC0,i�������DIF�	5���� /��0�� }�� � 
:VA2,i  rE VA0,i �������DIF��	�
�� }�� �VAUX

:A8,i  rE A0,i�������DIF�

��� }�K�� � 
:V134,i rE V0,i�������DIF����	��� }�K�� �. 

  
   

 

1620-03

A0,i V0,i V1,i V2,i V3,i V4,i V5,i V6,i V7,i V8,i V9,i V10,i V11,i V12,i V13,i V14,i

A1,i V15,i V16,i V17,i V18,i V19,i V20,i V21,i V22,i V23,i V24,i V25,i V26,i V27,i V28,i V29,i

A2,i V30,i V31,i V32,i V33,i V34,i V35,i V36,i V37,i V38,i V39,i V40,i V41,i V42,i V43,i V44,i

A3,i V45,i V46,i V47,i V48,i V49,i V50,i V51,i V52,i V53,i V54,i V55,i V56,i V57,i V58,i V59,i

A4,i V60,i V61,i V62,i V63,i V64,i V65,i V66,i V67,i V68,i V69,i V70,i V71,i V72,i V73,i V74,i

A5,i V75,i V76,i V77,i V78,i V79,i V80,i V81,i V82,i V83,i V84,i V85,i V86,i V87,i V88,i V89,i

A6,i V90,i V91,i V92,i V93,i V94,i V95,i V96,i V97,i V98,i V99,i V100,i V101,i V102,i V103,i V104,i

A7,i V105,i V106,i V107,i V108,i V109,i V110,i V111,i V112,i V113,i V114,i V115,i V116,i V117,i V118,i V119,i

A8,i V120,i V121,i V122,i V123,i V124,i V125,i V126,i V127,i V128,i V129,I V130,i V131,i V132,i V133,i V134,i

 89
:&�� �48DIf

 89
:&��DIF VA1,i VA2,iVA0,iSC1,iSC0,iH0,i
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3.3  ������� 	
�  

1.3.3   ����� !"��
(ID)  
���g� ,-�
# cMJ DE (ID) /���O W~ "# DIF WR0�� � "�	��� F�	hI��� }�� � 2"# D-�R&� F 3  ��&��$ID0) �ID1 

�ID2(1��f� "�	��� . 1 /���O � ���g� ,-�
# P�&� DIF.  

f�� 1��1  
 ����� !"��
 �����
(ID)  �#�$% &DIF  

������� ���� ���
0 1 2

ID0 ID1 ID2

���� ��!"� ����� (MSB) SCT2 Dseq3 DBN7

SCT1 Dseq2 DBN6

SCT0 Dseq1 DBN5

Res Dseq0 DBN4

Arb FSC DBN3

Arb FSP2 DBN2

Arb Res DBN1

���� ��"� ����� (LSB) Arb Res DBN0

 x�5 ���g� ,-�
# ��&9�# :���  
SCT: 1��f� �<=�) /�K��� ��2( 
Dseq: q$�&&�� }�� DIFs���f� �<=�)3�4( 

FSCFFSP: /��O � /�!K�� ���+ ���
.DIF1��f� �<=�)5( 
�&$� FSP /i�e� 

DBN:  /����� }��DIF1��f� �<=�)6( 
Arb: �	v��&5� �&$ 

Res: _LA 1�

&hA /i�e� �&$ 
�
	K�� x�5 q@�. k	3&�� �
	��1 

f�� 1��2  
'�(�� )*  

�#$�� %& ��'�#$�� %& 

SCT2SCT1SCT0

000�()���� 

001�(��*�� +�*
�� 

010 ,�(-/0�VAUX 

0111/�#�� 

1002��3(*�� 

101

4�56 110

111
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f�� 1��3  
 +������ ',#DIF  --���� ��./0 &60-Hz 

�'����� ��� ��'DIF�'����� ��� DIF 

Dseq3 Dseq2Dseq1Dseq0

0 0000 

0 0011 

0 0102 

0 0113 

0 1004 

0 1015 

0 1106 

0 1117 

1 0008 

1 0019 

1 010  78��/�#� 

1 011��/�#� 78 

1 100��/�#� 78 

1 101��/�#� 78 

1 110��/�#� 78 

1 111��/�#� 78 

f�� 1��4  
 +������ ',#DIF  -"-���� ��./0 &50-Hz 

�'����� ��� ��'DIF�'����� ��� DIF 

Dseq3 Dseq2Dseq1Dseq0

0 0000 

0 0011 

0 0102 

0 0113 

0 1004 

0 1015 

0 1106 

0 1117 

1 0008 

1 0019 

1 01010 

1 01111 

1 100��/�#� 78 

1 101��/�#� 78 

1 110��/�#� 78 

1 111��/�#� 78 

f�� 1��5  
 ���(�� ',#DIF 

FSC FSP +�9$�� ���DIF

0 1 0:;<"� +�9$�� 
1 1 1:�(
���� +�9$��
0 0 2:������� +�9$��
1 0 3:�/'���� +�9$��
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f�� 1��6  
 �#���� ',#DIF  

+�3*�� ��� ��'DIF  +�3*�� ���DIF 

DBN7 DBN6 DBN5DBN4DBN3DBN2DBN1 DBN0 

00 00000 0 0 

00 00000 1 1 

00 00001 0 2 

00 00001 1 3 

         

         

         

10 00011 0 134 

10 00011 1 ��/�#� 78 

:: ::::: : : 

11 11111 1 ��/�#� 78 

2.3.3  (��/��2��) �����4�  
/���O W~ "# (�
O�!�� ���
¡�) ��	�
�� cMJ DE DIF f� � "�	�# �	hI��� }�� ��1� 7 ."# ��&������ 3 rE 7  F��	0=

"# ��&������ 8 rE 79 ./i�e�  

f�� 1��7  
��50��� '�, & (��%���� ����6�) �����4�  

������� ���� ���  
 3 4 5 6 7 8 ------- 79 

���� ��!"� ����� (MSB)  DSF Res TF1 TF2 TF3 Res ------- Res 

 0 Res Res Res Res Res ------- Res 

 Res Res Res Res Res Res ------- Res 

 Res Res Res Res Res Res ------- Res  
 Res Res Res Res Res Res ------- Res 

 Res APT2 AP12 AP22 AP32 Res ------- Res 

 Res APT1 AP11 AP21 AP31 Res ------- Res 

���� ��"� ����� (LSB) Res APT0 AP10 AP20 AP30 Res ------- Res 

 
:DSF  �'����� �=�>�DIF  
= 0 10  ,�/'���DIF +�9� @ +���6DIF������� A�	
 @)60-Hz( 
= 112 D��/'��� DIF +�9� @ E��6DIF������ A�	
 @)50-Hz( 

���F� ,�G��/� ,�(-/� H�I�<APTn<AP1n<AP2n<AP3n 1/����� J(�-��� ���K ,�G��/0 �$'�-�APTn)=001 
<AP1n=001 <AP2n=001 <AP3n=(001LM N�  %�9�� O� �(��� ����3(G �P�Q� ���5#� O� RS� �3T0� +��QM U
�!

� .1����� 2��3(*���� ��($�� ��� ,�(-/0� VWK  ,��' �(X �Y��G NZ<�/� 78 +��Q[� �3T� H�! �LM 1.  
:TF\�)�[� �=�>� 

:TF1  �>3]*�� \�)�[� �=�>�DIF�(/�#�� 
:TF2 �>3]*�� \�)�[� ��>�DIF����3(*�� +3��#0�< ����3(*�� 
:TF3 �3]*�� \�)�[� �=�>�DIF�(��*�� +�*
�� 
  = 0�^�_ ,�(-/� 

 = 1 78 ,�(-/��^�_. 
:ResJ`� \��/�)� +4�56 ��' 

��($�� ��� �Y�� a(b��� ��(�<1. 
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4.3  ����
�� ��
��� 	
�  

1.4.3   ����� !"��
(ID)  
/���O W~ "# ���g� ,-�
# cMJ DE DIF /�K��� � ?��0�� ���= �+ D�R� �	5���� /��0�� }�� � 1.3.3 �� D�R�� .

�+ }�K�� 001.  

2.4.3  �����4�  
 WR0�� "�	��4 /���O W~ "# (�
O�!�� ���
¡�) ��	�
�� cMJ DIF  �	5���� /��0�� ��	�
# D-�R&.� .�	5���� /��0�� }�� �

"# 6  �	5���� /��0�� "#�M. ����O(SSYB)�N!# /�L�� W~ 1�v F 48 ����� ��&����� "# 8�
� /i�e� �K�!# "#� F�&��$ 29  �&��$
/��O W~ � DIF "#�M&�� ���O }d��.� .��% ��y SSYB q$�&&�� � DIF "# 0 rE 11"#�M. /���O W~ ���&.� . SSYB  ,-�
# "#
/���� ���+ SSYB � s&&��$ �����"#� s&!Z FFh  /������ ��	�
# "# �
O�= ���¢ "#� SSYB  �����#5 .��&��$  

0��� WR4  
	������ ������ ��! � ������� 

"�
�;�� 24�< �48 

  1620-04

3 10 18 1911 26 27 34 35 42 43 50

3 10 18 1911 26 27 34 35 42 43 50

Sc0, i

%��!?

"�
�;�� 24�< �48
0

������

Sc1 ,i

1 3 50 51 79

SSYB
ID0

SSYB
ID1

FFh

8 bytes

SSYB data

29 bytes

ID %��!?
0

�����ت

29 bytes
1 2 3 50 51 79

2

SSYB0 SSYB1 SSYB2 SSYB3 SSYB4 SSYB5

SSYB6 SSYB7 SSYB8 SSYB9 SSYB10 SSYB11

ID
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1.2.4.3   ������� ������ 7
�8� �#�$�� ����� !"��
(SSYB)  
1��f� "�	�� 8 ,-�
�� c�MJI SSYB ID0)F (ID1F�B!�� ���+ ,-�
# x�5 ��&9 �+� . FR  ��K	��&�� ���+ ��O-�
#�

AP32) FAP31F
 

(AP30 �APT2)F
 

APT1 F(APT0������� Q���I� F SSYB Syb3) FSyb2 FSyb1F (Syb0.  

f�� 1��8  
 ������� ������ 7
�8� �#�$�� ����� !"��
(SSYB)  

����� ��	
  
���SSYB ���SSYB  ��� SSYB  

0 
 61��5
7��10 11 

ID0 ID1 ID0 ID1 ID0 ID1 

b7FRArb
Arb  
Arb 

Arb 

FRArb 

Arb 

Arb 

Arb 

FR Arb 

Arb 

Arb 

Arb 

b6AP32Res
Res 

Res 

APT2 

b5AP31APT1 

b4AP30APT0 

Arb 

Arb 

Arb 

Arb 

b3Arb
Arb 

Arb 

Arb 

Syb3Arb
Arb 

Arb 

Arb 

Syb3 Syb3 

b2Syb2Syb2 Syb2 

b1Syb1Syb1 Syb1 

b0Syb0Syb0 Syb0 

 "@>A<BArb"�C�;��� "�+ = 

FR:   <� \<"� cT9�� ���K Zd�>/>�+�9� �! O� e���� cT9�� DIF 

1 =+�9� �! O� \<"� cT9��DIF

 0= +�9� �! O� e���� cT9��DIF

  
+�9� �! O� \<"� cT9��DIF

  �'����� ���DIF�K0N1N2N3N4������ A�	
 @60-Hz 

 �'����� ���DIF�K0N1N2N3N4N5������ A�	
 @  50-Hz 

  
e���� cT9��+�9� �! O�DIF 

 �'����� ���DIF�K5N6N7N8N9������ A�	
 @60-Hz 

 �'����� ���DIF�K6N7N8N9N10N11������ A�	
 @ 50-Hz 

f �LM< ��($�� ��� ,����� �(X �Y�� N+�g#(�� ,����/0� OI�1. 

2.2.4.3   ������� ������ 7
�8� �#�$% �����
(SSYB)  
 W~ D-�R&./������ ��	�
# "# �
O�= ���¢ SSYB "# ��£��# /��#|i "# 5 ~ ��&��$�
 WR0�� � "�	�# �+ 5 "�	��� .

1��f� 9 �&����� }	<!.) ��#|M�� ��	hI� 1��J PC01��f� "�	��� .( 10 /������ ��	�
# � ��#|M�� ��	.�. SSYB  WR�
/�!� DIF.  

0��� WR5  
 ������� � ���"#��SSYB  

  1620-05

PC0 PC1 PC2 PC3 PC4

5 bytes

*��=�<SSYB

%#E<F�

FFh
ID1

SSYB

ID0

SSYB
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f�� 1��9  
�	
98�� ���50# :;�<  

�	��  

���� 
0000 0001 0010 0011 0100 0101 0110 0111 — 1111 

0000 

 

     

���

���

���

�	����    

 

0001 

 

     

� ���!
 ���

���

� ���!
 ���

�	����

   

 

0010 

 

          

 

0011 

 

 

 "#�$
��%
& 

        

 

0100 

 

 

 "#'
(&
��%�%)� 

        

 

0101 

 

          

 

│ 

 

          

 

1111 

 

         

*  �+	,
-.
	��
 

f�� 1��10  
 �#�$��� �����
 & �	
98�� ���(�SSYB 

 ���SSYB 

/0 1
 2
3� 4�%��
".%�DIF 

 ".%� /0 1
 5.6�� 4�%��DIF 

0 "&	78 "&	78
1 "&	78 "&	78
2 "&	78 "&	78
3 TC TC

4 BG "&	78
5 TC "&	78
6 "&	78 "&	78
7 "&	78 "&	78
8 "&	78 "&	78
9 TC TC

10 BG "&	78 
11 TC "&	78

������: 
1  TC "�/<H�� %#&5�� "<E�F8 =.  
2  BG  %#E<FH�� "<E�F8 =�/�/J��".  
3  Reserved  "7�0�� K�� 2L�� *��;�� 2�7M N�O��� "7�4 =1.  
4   P�<�F#�� *��=�<TC -BG .	�8 	Q 	R�S �T�&� (U ����  
 �7/�� �< (U "�/<H�� %#&5�� *��=�<LCT. 
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1.2.2.4.3   ���
8�� ������ �
=>9#(TC)  
 1��f� "�	��11 .W.� W~ WY�8 �N��= �+ D�R. �	!#M�� /��0�� Q�i|�$ �	!#M�� /��0�� ��	�
# ��$�K# �!5� .�	!#M�� /��0�� �#�i|� �	!$  

f�� 1��11  
���
8�� ������ �
=>9# ����  

 -"-���� ?�./ &60 Hz 

 ���� ��!"� �����(MSB)    ���� ��"� �����(LSB) 

PC0 0 0 0 1 0 0 1 1 

PC1 CF DF \���"� ,��
� \���"� ,�3`< 

PC2 PC e����� ,��
� e����� ,�3`< 

PC3 BGF0 Jh��3�� ,��
� Jh��3�� ,�3`< 

PC4 BGF2 BGF1 ,���#�� ,��
� ,���#�� ,�3`< 

 

 -"-���� ?�./ &50 Hz 

 ���� ��!"� �����(MSB)    ���� ��"� �����(LSB) 

PC0 0 0 0 1 0 0 1 1 

PC1 CF Arb \���"� ,��
� \���"� ,�3`< 

PC2 BGF0 e����� ,��
� e����� ,�3`< 

PC3 BGF2 Jh��3�� ,��
� Jh��3�� ,�3`< 

PC4 PC BGF1 ,���#�� ,��
� ,���#�� ,�3`< 

	$%&� �(_���� @ ���T*� ,����/� 3i�� :ITU-R BR 780 

CF:  H���� �>�>�  
0 = O��j�� 78 k��)�  

 1=  O��j�� k��)�  
DF:  l�$)[� �>�>� �=�>�  

 0=  l�$)[� A3� ���� �(9�j�� +�*
��  
1 =  l�$)[� ���� �(9�j�� +�*
��  

PC:  ��-�� �(h�9m ��n/' �(�-$�� o(pT�  
0 =  1i<4  

 1=  2��G  
BGF:  +��qj�� �=�>���(9(9m�  
Arb:  �(P����� ��'  

  

2.2.2.4.3   ��=
98�� �
=>9#���@A�� �(BG) 

1��f� "�	�� 12  /�#|M�� �#�i|� �	!$	!	!ZA� /�#|M�� ��	�
# ��$�K# �!5� .�	!	!ZA� /�#|M�� Q�i|�$ �	!	!ZA�W~ WY�8 �N��= �+ D�R. � .W.�  
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f�� 1��12  
�����@A� ��=
98�� �
=>9# ����  

MSB (���� ��!"� �����) LSB (���� ��"� �����)
PC0 0 0 0 1 0 1 0 0 

PC1 +�r�q4�9(9m( �2 +�r�q4��(9(9m1

PC2 +�r�q49(9m� �(4 +�r�q49(9m��(3

PC3 +�r�q49(9m� �(6 +�r�q49(9m��(5

PC4 +�r�q49(9m� �(8 +�r�q49(9m��(7

5.3  ��������	 
���
�	 ������	 �
�(VAUX)  

1.5.3   ����� !"��
(ID)  
/����O W~ "# ���g� ,-�
# cMJ DE DIF }�K�� � VAUX /�K��� � ?��0�� ���= �+ D�R� 1.3.3�+ }�K�� �� D�R�� . 010.  

2.5.3  �����4�  
WR0�� "�	�� 6 /����O W~ "# (�
O�!�� ���
¡�) ��	�
�� cMJ DIF �����	��� /�5���� ��	�
�� }�� � (VAUX) �*+ "�	��� .

�#�i|��� ��	.�. WR0�� VAUX q$�&. WR� DIF.  
[�!+ D�R	h� 15 �N!# W~ 1�v F�#i� 5 /����O "# �
O�= ���¢ W~ � D�.i�e� D�&&��$� F��&��$ DIF ��	�
�� "# VAUX .

�
	K�� x�5 q@�. /i�e� �&��$ WR� k	3&�� �
	�� FFh.  
[�!+ �	�5� 45 q$�&&�� � �#i|� DIF��	�
�� ��#|i� . VAUX ������ � DIF "# q$�&&�� x�5 �
¤��# D�R. 0 rE 44.  x-
���

/��#|M�� }�� }���� �*+ .�����	���  

0��� WR6  
 ������� ��! � �������VAUX 

������� ���� ���  

  1620-06

0  1  2  3     8       13    18     23    28    33    38    43    48    53    58    63     68    7 3   78 79

ID 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14

ID 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29

ID 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44

Va0, i

Va1, i

Va2, i

"<�#�� �48  �����

���	
�  
"<�#�� *��=�<

 
PC0 PC1 PC2 PC3 PC4
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1��f� "-	��� 13 Q�i|��� W|$�K. VAUX ������ DIF ��	�
�� � VAUX �#�i|� W.� W~ � �J�. DI kl� .
��B# (VS) VAUX ��B# � }�Rt&�� �#�i|�� F/�L��(VSC) VAUX  ��	�
�� Qi|� /i�e� xK�.� ./�L�� VAUX 

 ������� "# �	K�&��DIF q$�&. � DIF�
	K�� x�5 /i�e�� ��
�R�� q	C �
	� q@�.� F FFh.  
 �yE�¥  ��	�
�� Wh�.VAUX �#i|� Wh�. FA ��
���
 }�	�K��$ /c��
�� FFh

.

 

f�� 1��13  
 ?	>9��� �9��(�VAUX  +���� &DIF  

�������	
��
�������	 
����� 

�����DIF���� �����DIF���� 
390VS 

401VSC 

 �'�����DIF :1i<j��  
1K �'����� A���� 0 N2 N4 N6 N8  ������ A�	
 @Hz 60  

 �'����� A����<DIF 1K 0 N2 N4 N6 N8 N10  ������� A�	
 @Hz 50  
 �'�����<DIF :2��*��  

 �'����� A����DIF 1K 1 N3 N5 N7 N9  ������� A�	
 @Hz 60  
 �'����� A����<DIF 1K 1 N3 N5 N7 N9 N11  ������� A�	
 @Hz 50.  

1.2.5.3   #�B
 �
>#(VS) VAUX  
1��f� "�	�� 14 ��B# �#i|� �	!$ VAUX. 

f�� 1��14  
 #�B
 �
># ����VAUX  

MSB (���� ��!"� �����) LSB (���� ��"� �����)
PC0 0 1 1 0 0 0 0 0 

PC1 Res Res Res Res Res Res Res Res 

PC2 Res Res Res Res Res Res Res Res 

PC3 Res Res 60/50 STYPE
PC4 0 Res Res Res Res Res Res Res 

50/60:  
 0=   ������� A�	
Hz 60  
 1=   ������� A�	
Hz 50  
STYPE:  ����3(*�� +��Q[� %&  

 ������� A�	
 @Hz 60   
1 0 1 0 0 b = × 1 920 × 1 080/60/I s  l�b�
�� \3/�100 Mb/s 

1 0 1 0 1 b = 4�56  
1 1 0 0 0 b = × 720/60/P 1 280 s  l�b�
�� \3/�100 Mb/s  

= �K78 +4�56  
 ������� A�	
 @Hz 50  

1 0 1 0 0 b = 1 920 × 1 080/60/I s  l�b�
�� \3/�100 Mb/s  
1 1 0 0 0 b = × 720/60/P 1 280s  l�b�
�� \3/�100 Mb/s  

+4�56 = E�t"� �($��  
Res:   +4�56 ��'J`� \��/�)�  

  ��($�� ��� �Y�� a(b��� ��(�<1.  
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2.2.5.3   #�B
 & 'CDE��� �
=>9#VAUX  
 1��f� "�	��15  ��B# � }�Rt&�� �#�i|� �	!$VAUX. 

f�� 1��15  
 #�B
 & 'CDE��� �
=>9# ����VAUX  

 �������!�� ���� (MSB) ���� ��"� �����(LSB) 

PC0 0 1 1 0 0 0 0 1 

PC1 CGMS Res Res Res Res Res Res 

PC2 Res Res 0 0 Res DISP

PC3 FF FS FC Res Res Res 0 0 

PC4 Res Res Res Res Res Res Res Res 

CGMSu#9�� 3(��� +���M A�	
 :  
  0 0 b = ��` u#9��  
  +4�56 = �K78  
DISP�Q�Q ��� v�/�� w�$�
� k��)� :  
  0 1 0 b = 16:9  
  �K78 = +4�56  

FF:  \�x/��� �=�>�  
 l�-z� A�	
 @1 080 × 1 920  \<3{� �	
�)16(  

  FF � \3���  3`�< 2��3(G ��� +��G w�9m� |��� 3`�< \�x ���I� } A� N|����� |��x �(�#� } 3� H�! �LM
 \<3{� �	
�)16(  

   0= |��� |��~� O� %$G 3`�< �(�#� }  
   1= ! �(�#� }n  |��~�a(�����'.  

 l�-z� A�	
 @< 1 280 × 720   \<3{� �	
�)17(  
FF � \3��� |���3(*�� |����� +��G w�9m� |��� 3`�< 2��3(G ��� ���I� } A� N|����� |���3(G |��� �(�#� } 3� H�! �LM  

  0 =  |��� |���3(*�� |����� O� %$G 3`�< �(�#� }  
  1 =  ! �(�#� }n  |�����a(�����' |���3(*��.  

FS:  e����/\<"� \�~� �=�>�  
l�-z� A�	
 @ 1 920 × 1 080  \<3{� �	
�)16(  

    FS  \<3{� �	
�) 3`�< \�x +��G w�9m� ��(�#� } ���x H� ��� \3�16(  
  0=   \�~�2 ��(�#� }  
  1=   \�~�1 ��(�#� }.  

 l�-z� A�	
 @<720 × 1 280   \<3{� �	
�)17(  
    FS 3`�< 2��3(G ��� +��G w�9m� ��(�#� } �����3(G �n�� H� ��� \3�.  
  0 =   2��3(*�� �����2 ��(�#� }  
  1 =   2��3(*�� �����1 ��(�#� }.  

  

f�� 1��16  
FF/FS  F��G� ?�./ &1 920 × 1 080   

FF FS ���z� \�~�  
1 1 \�~� �<�t }1\�~�<2) a(����� �W�1 N2 (�'�����'.  
1 0 \�~� �<�t }2\�~�<1W��) a(�����2 N1 (�'�����'.  
0 1 \�~� �<�t }1����H. 
0 0 \�~� �<�t }2����H. 
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f�� 1��17  
FF/FS  F��G� ?�./ &720 × 1 280  

FF FS ���z� 2��3(*�� ����� 

1 1 2��3(*�� ����� �<�t }12��3(*�� �����<2) a(����� �W�1 N2 (�'�����'.  
1 0 2��3(*�� ����� �<�t }22��3(*�� �����<1) a(����� �W�2 N1 (�'�����'.  
0 1 2��3(*�� ����� �<�t }1H����. 
0 0 2��3(*�� ����� �<�t }2H����. 

FC: ����� 7(b� �=�>�  
 l�-z� A�	
 @ 1 920 × 1 080  

FC � \3��� +�Q��� J'�#�� 2��3(*�� ����� ;M ����9�)� ,��I� 3� ��^� 2��3(*�� ����� +��_ U
�! �LM  
0 = ! +��T�� �*
�� J'�#�� 2��3(*�� ����� @  
1 = J'�#�� 2��3(*�� ����� O� �*��� +��_  

 l�-z� A�	
 @<1 280 × 720  
FC � \3���  |���3(*�� |����� +��_ U
�! �LM+�Q��� |$'�#�� |���3(*��� |����� ;M ����9�)� ,��I� 3� |(��^�  

0 = ! +��T�� �*
�� |$'�#�� |���3(*�� |����� @  
1 = |$'�#�� |���3(*�� |����� O� �*��� +��_  

Res: J`� \��/�)� +4�56 ��'  
 ��($�� ��� �Y�� a(b��� ��(�<1. 

6.3  ������ ��	��  

1.6.3   ����� !"��
(ID)  
/����O W~ "# ���g� ,-�
# cMJ DE DIF /�K��� � ?��0�� ���= D�R� �

��� }�K�� � 1.3.3 �+ }�K�� �� D�R�� 011.  

2.6.3  �����4�  
WR0�� "�	�� 7 /����O W~ "# (�
O�!�� ���
¡�) ��	�
�� cMJ DIF /������� ��	�
# D-�R&.� .�

��� }�K�� � DIF  �

"# �

��� }�K�� 5 �	

��� /�5���� ��	�
�� "# ��&��$ (AAUX) "#� 72  /�£�0# �+� F�	

��� ��	�
�� "# �&��$
s.�K��� � �L��0�� �	�

��$ ��£�V� 1.2.6.3 �2.2.6.3.  

0��� WR7  
������ ��	�� 
 ��
����  

������� ���� ���  

  
1.2.6.3  H����� ������  

1.1.2.6.3  #�B4� ����  
8-8�&�� �!5 ���	&5� ��l �	
� WY8 /���E W~ 48 kHz��y �	
R. q# F 16  q@�.� .�	
� ���!� ¦�§ Q�<!�� �¤O��� .�&$

�	
� /����O W~ � �	
� /�!� WR� �	

��� ��	�
�� .k	.�&��$  

1620-07

�(/� +3��#� ,�(-/� �(/� ,�(-/� 

0    1    2    3 7    8 79

���F� Z��/�  
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2.1.2.6.3  �������  
��K$ r�>� ��.��� "# _������ ���0&��$ �	

��� ������� 6�0. }&� µs 50/15 ���0&�� ���� F��Z�
&�� WY��� W	e�. �� .

� .k	3&�� ���L  
3.1.2.6.3  H����� I�G� ���J  

nB¨ F/�d�0�� �	

��� ��	�
�� � 8000h  '*+� .�¡�% 6{ �	
� �!-	5 x�5 1�� �R� �

��� ��p� /��� '���&5�$
 ��-
R# W	]� � k����� W#�R�� `���&�� �
	� W$�K. /��0����	!	!ZA� /�£�0�� ��	�
�� "-
4&. �#�!5� .�8�
�� 8000h  kl

HrE �N��� 8001h.  
4.1.2.6.3  K���� H����� L������� M�,����  

 F��G� ?�./ &1 920 × 1 080  
��� ����� 	
� �
� ��
����� �� ���
��� ������� ����� ��
����� ��� ��! ���"#� ���$ �
���� %����� &'��� (��) *+, 1.  

 F��G� ?�./ &;1 280 × 720  
 rE ���!��$ ������� s�
p� ��!-	
�� /�# "
@ ���&R# �	
� �!-	
$ �

��� W.��� I���}�� �p� ����$ *!# ��% ��!-	
�� 1 

����	��� W.��� "# .1�>�  
5.1.2.6.3  H����� ����� �N��
  

x�5 �
� W.� W~ ��&9� .�
� W.� W~ � �	

��� ��	�
�� ��
. 1 602 �I 1 600 88�&�� Q�<= � �	
� �!-	5 Hz 60 �I F
 x�51 920  8-8�&�� Q�<= � �	
� �!-	5Hz 50  8-8�&�� Q�<= �� .q@���� W

&���� �	LGB�� ��	�
© �$�tB# �	
� /�!� "#

Hz 60~ F1�.�>� �h�
p� q$�&&�� �
� W.� W~ � �	

��� ��!	
�� 8�5 q�-&� F�
 :���  
1 600 F1 602 F1 602 F1 602 F1 602 "# .��!-	
��  

 x�5 b��8�� D�R� �L���� �

��� W.����1 620  88�&�� Q�<= � �!-	5Hz 60 x�5� F1 944  8-8�&�� Q�<= � �!-	5Hz 50 .
}	K$ '��# ��l �
� W.� W~ ���� � W

&��� 6{ �K�&�� ª������ .�	v��&5�  

2.2.6.3  H����� )��O���  
��	�
�� �
�~ }-�K. "# ������ �	

��� 16 ��A8 �]~>� �&��� x�5 ����
�� �&����� ��&H Fs&&��$ rE �&$ (MSB)  ��&H�

��A8 W�>� �&��� x�5 �	����� �&����� (LSB)~ F�
 WR0�� � "-	�# �+ 8��
$�&. � �	

��� ��	�
�� �	�« }&�� . DIF  ��
����O DIF �� ��&��$ ,-�
.� .�
� W.� WY�8 ���$ ��	�
Dn  �	L)n  =0 F1 F2 �+� (... F�=�&
# k	.�&��$ n  W.� "
@

/�L�� WR$ ��£�V� F�
� Dn.  
:�	��&�� �A8�
��$ �!-	�# �	�
5 a5 ��	�
�� �	�« ��l�  

8-8�&�� Q�<= �  Hz 60 �  
  /�!K�� }��DIF: i=0 : D�&	

��� D�.�!K��CH1�CH2 

  i=1 : D�&	

��� D�.�!K��CH3�CH4 

  i=2: D�&	

��� D�.�!K��CH5�CH6 

   i=3: D�&	

��� D�.�!K��CH7�CH8 

  q$�&&�� }��DIF: (INT (n/3) + 2 × (n mod 3)) mod 5 �	

��� ���!K��CH1 �CH3 �CH5 �CH7  
  (INT (n/3) + 2 × (n mod 3)) mod 5 + 5   �	

��� ���!K��CH2 �CH4 �CH6 �CH8 
  /������� }��DIF :�	

��� 3 x (n mod 3) + INT ((n mod 45) / 15) 

 :�&����� q��# }�� 8 + 2 × INT(n/45)��A8 �]~>� �&����� 
9 + 2 × INT(n/45)��A8 W�>� �&����� 

 D�R. �	L n=0rE1 619. 
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8-8�&�� Q�<= ��Hz 50 �    
  /�!K�� }��DIF: i=0: D�&	

��� D�.�!K��CH1�CH2 

  i=1: D�&	

��� D�.�!K��CH3�CH4 

  i=2: D�&	

��� D�.�!K��CH5�CH6 

  i=3: D�&	

��� D�.�!K��CH7�CH8 

  q$�&&�� }��DIF: (INT (n/3) + 2 × (n mod 3)) mod 6�	

��� ���!K��CH1 �CH3 �CH5 �CH7  
  (INT (n/3) + 2 × (n mod 3)) mod 6 + 6  �	

��� ���!K��CH2 �CH4 �CH6 �CH8  
  /������� }��DIF :�	

��� 3 x (n mod 3) + INT ((n mod 54) / 18) 

 :�&����� q��# }�� 8 + 2 × INT(n/54)��A8 �]~>� �&����� 
9 + 2 × INT(n/54)��A8 W�>� �&����� 

 D�R. �	L n=0rE1 943.

0��� WR8  
�
�� ��
��� ������ �� �
����� ���
��� ����  

  
3.2.6.3    ���P �����
 �����
(AAUX)  

�	

��� /�5���� ��	�
�� ,�4. (AAUX) ~ ��d�¬�� �	

��� ��	�
�� rE�
 s�R0�� � "-	�# �+ 7 �9 �#�i|� W
&0.� .
��	�
�� AAUX �#�i|��� �	hI� x�5 AAUX �
O�!�� ���
¡�) ��	�
# x�5� AAUX�#�i|��� 1�v D-�R&�� .( AAUX  "#

5 ~ ��&��$�
 WR0�� � "-	�# �+ 9��	�
�� �#i|� ��	.�. "5 �0R� �*�� F AAUX"# �	

��� Q�i|��� }£��|.� . 0 rE 8 
~�
 WR0�� � "-	�# �+ 9��� .�#�i|��� }�� }���� �*+ x5 .�	

���  

1��f� "-	��� 18 ��	�
�� �#�i|� �	!$ AAUX q@�.� .��B# �#i|� AAUX /�L�� (AS)  ��B# � }�RH �#�i|� q#
AAUX  /�L��(ASC) .2�34�� ���K�� WY�8  

 1���f�18  
 ?	>9��� ���(�AAUX  +���� &DIF 

�(/� ��4� ��� 

��4��� ,�(-/� 

 �'���DIF1i<j�� �'���DIF2��*�� 
30AS 

41ASC 

 �'���DIF :1i<j��  
 �'����� ���DIF 0 N2 N4 N6 N8  ������� A�	
 @Hz 60  
 �'����� ���DIF 0 N2 N4 N6 N8 N10  ������� A�	
 @Hz 50  

 �'���DIF :2��*��    
 �'����� ���DIF 1 N3 N5 N7 N9  ������� A�	
 @Hz 60 

 �'����� ���DIF 1 N3 N5 N7 N9 N11  ������� A�	
 @Hz 50.  

1620-08

7  6  5  4  3  2  1  015 14 13 12 11 10  9  8

15 14 13 12 11 10  9  8 7  6  5  4  3  3  1  0

16

������� �	�
��� 

8  bits 8  bits

��
 ���� ���� �����(LSB) ���� ����� �����  (MSB)
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0��� WR9  
 ��
���� ���!" �#
$%$AAUX �
����� &'(���� ��
���� 
  

������� ���� ���  

  
1.3.2.6.3   #�B
 �
=>9#AAUX (AS)  

 ��B# �#�i|� W£R0&.AAUX (AS) � b�KO��  1��f� �!-	��19.  

f�� 1��19  
 #�B
 �
=>9# ����AAUX  

 �������!"� ����(MSB) ���� ��"� �����(LSB) 

PC0 0 1 0 1 0 0 0 0 

PC1 LF Res AF SIZE

PC2 0 CHN Res AUDIO MODE

PC3 Res Res 50/60 STYPE

PC4 Res Res SMP QU

LF:  �>�r��0� k��)"� �=�>�  
M Z������3(G +��QM �� 1/�#�� H�(���� ����� ����.  

 0= �>�r�q� k��)�  
 1= 4�56  

AF SIZE: ����� @ �(/�#�� ,�9�(/�� �3�  
0 1 0 1 0 0 b= 1 600  ������� A�	
 @) �����/�9�(�Hz 60(  
0 1 0 1 1 0 b= 1 602  ������� A�	
 @) �����/�9�(�Hz 60(  
0 1 1 0 0 0 b= 1 920  ������� A�	
 @) �����/�9�(�Hz 50(  

 = �K784�56    
CHN:  �(/� +�r3]G �t�� �(/�#�� ,��9$�� �3�  

0 0 b  =�(/� +�r3]G @ +3`�< �(/� +�9�  

1620-09

�	����� ������ ���0 

�	����� ������ ���1 

�	����� ������ ���2 
�	����� ������ ���3 

�	����� ������ ���4 
�	����� ������ ���5 

�	����� ������ ���6 

�	����� ������ ���7 

�	����� ������ ���8 

5  bytes

�	�� ��	��� 

A0,i

A1,i

A2,i

A3,i

A4,i

A5,i

A6,i

A7,i

A8,i

0     1     2     3 7     8 79

 �	!"�
������

������ ��	��� 

PC0 PC1 PC2 PC3 PC4

#� $������ 
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�K78 = 4�56  
O� �(/�#�� +�r3]*�� H��I�� 45 +�r3]G DIF )9  �r3]G5 × DIF ,�/'��� DIF ������� A�	
 @ (Hz 60O�< N 54 +�r3]G DIF 

)9 �3]G 6 × DIF ,�/'��� DIF������� A�	
 @ ( Hz 50.  
:AUDIO MODE �(/� +�9� �! ��� �(/�#�� +��Q[� ,����6 :(1/� k��)�)  

0 0 0 0 b =  �(/�#�� ,��9$��CH1 <CH3 <CH5 <CH7 

 0 0 0 1b=  �(/�#�� ,��9$��CH2 <CH4 <CH6 <CH8  
 1 1 1 1 b= �^�_ 78 �(/� ,�(-/�  

= �K78 4�56  
50/60:  

0 =  ������� A�	
Hz 60  
1 =  ������� A�	
Hz 50.  

STYPE:  ��>� �! @ �(/�#�� �>3]*��  
0 0 0 1 1 b = 8  �(/� �>3]G  

K78� = 4�56  
SMP: H�(���� �����  

0 0 0 b = kHz 48  
= V78 4�56  

QU:  I>��(�  
 0 0 0 b= 16 �(�-t ��'  

K78� = 4�56  
Res:  J`� \��/�)� +4�56 ��'  

 ��($�� ��� �Y�� a(b��� ��(�<1.  
  

2.3.2.6.3   #�B
 & 'CDE��� �
=>9#AAUX (ASC)  
 ��B# � }�Rt&�� �#i� WdR0&.AAUX � b�KO��  1��f� �!-	��20. 

f�� 1��20  
 #�B
 & 'CDE��� �
=>9# ����AAUX  

 �������!"� ����(MSB) ���� ��"� �����(LSB) 

PC0 

0 1 0 1 0 0 0 1 

PC1 

CGMS Res Res Res Res EFC

PC2 

REC
ST 

REC
END 

FADE
ST 

FADE
END 

Res Res Res Res 

PC3 

DRF SPEED

PC4 

Res Res Res Res Res Res Res Res 

CGMS: u#9�� 3(��� +���M A�	
  
0 0 b = ��` u#9��  

= V78 4�56  
EFC:  �(/� +�9� 3�3
� �=�>�  

0 0 b = 3�3
��� �-�  
0 1 b = 3�3
��� �_<  
��78 = 4�56  

 3�3
��� ��� �Y��EFC �(/� +�r3]G �! ���.  
REC ST: �(5#��� w3' �-$
  

0 = �(5#��� w3' �-$
  
1 = U#(� �(5#��� w3' �-$
  

�(5#��� w3' �-$
 �Y�� N�(5#��� w3' ��� @ (REC ST) 2<�#� 1K< N+3`�< �(/� +�r3]G +30 �*T�� ��� 5 <� 6 
,�/'��� DIF .�(/� +�9� �I�  
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REC END: �(5#��� w���
� �-$
  
0 = �(5#��� w���
� �-$
  
1 = �(5#��� w���
� �-$
 U#(�  

 �(5#��� w���
� �-$
 �Y�� N�(5#��� w���
� ��� @(REC END) 2<�#� 1K< N+3`�< �(/� +�r3]G +30 �*T�� ��� 5 
<� 6 ,�/'��� DIF .�(/� +�9� �I�  
FADE ST�(5#��� w3' �-$
 ��t :  
0 = ��z� �-�  
1 = ��z� �_<  
�  �(5#��� w3' �-$
 ��t ,����/� H�I�(FADE ST) M ����/G�  �(5#��� w3' ��� @(0 = REC ST)H�! �L�G . 

FADE ST  2<�#�1  .����� @ H�(��� +��QM \<� W9� U*� H� �i��z� �(/�#�� +��Q�� 1b�9� N�(5#��� w3' ��� 39�
���  H�! �LMFADE ST � 1b�9� N�(5#��� w3' ��� 39� �*T�� 2<�#�� .�i��z� �(/�#�� +��Q[� ���  

FADE END: 
 ��t�(5#��� w���
� �-$  
0 = ��z� �-�  
1 = ��z� �_<  
� �(5#��� w���
� �-$
 ��t ,����/� H�I� (FADE END) M ����/G� �(5#��� w���
� ��� @ (0 = REC END) �L�G .

 H�!FADE END 2<�#� 1  H�(��� +��QM �t� �` ��� H� �i��z� �(/�#�� +��Q�� 1b�9� N�(5#��� w���
� ��� 39�
� .����� @��  H�! �LMFADE END � �i��z� �(/�#�� +��Q�� 1b�9� N�(5#��� w���
� ��� 39� �*T�� 2<�#�� .���  

DRF:  V���� �=�>�  
 0= 1*�z� V����  
1 = 1���"� V����  

SPEED ����3(*�� �P�Q"� ���5#� @ ���I0� ���) :(���#��) )VTR\<3{� �	
�) ( 21(.  

f�� 1��21  
 ������ ���J Q����(SPEED)  

+�*
�� ���! 
MSB       LSB 

@ ���I0� ���)VTR

A�	
Hz 60 A�	
Hz 50

0000000 0/120 (=0) 0/100 (=0)

0000001 1/120 1/100

: : :

1100100 100/120 100/100 (=1)

: : +4�56
1111000 120/120 (=1) +4�56

: +4�56 +4�56
1111110 +4�56 +4�56
1111111 �^�_ 78 ,�(-/� �^�_ 78 ,�(-/�

RES:  J`� \��/�)� +4�56 ��'  
��($�� ��� �Y�� a(b��� ��(�< 1.  

7.3 
��
���� ��	��  

1.7.3   ����� !"��
(ID)  
 DE/����O W~ "# ���g� ,-�
# cMJ DIF /�K��� � ?��0�� ���= D�R� ����	��� }�K�� � 1.3.3�+ }�K�� �� D�R�� . 100.  

2.7.3  �����4�  
/����O W~ "# (�
O�!�� ���
¡�) ��	�
�� cMJ D-�R&� DIF "# ����	��� }�K�� � 77  kl �����	��� ��	�
�� "# �&��$

~ W.� W~ "# �����	��� ��	�
�� ��
.� .�+6�0.� �N�	�«� ���	&5��
 �!��� � ?��0# �+ 4 � ��	�
�� '*+ x5�.� .
��&����� 77 .�v�34# �
h�� /����O F�&��$  
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1.2.7.3   �#=�$���DIF �R�ST4� ��5���� �#=�$���;  
������� s$ W$�K&�� DE DIF �����	��� �v�34�� �
h���� �������� �����	��� CM h,i,j,k 1��f� � "-	�# 22 8-8�&�� Q�<!� Mz-60 F ��

1��f� 23 � Q�<!�1 080/50/I × 1 920F 1��f� �� 24  2��p� Q�<!�720/50/P × 1 280.  
������� s$ W$�K&�� ,-�
. u�� /�5�K��� DIF 	O �!-	�# �v�34�� �
h���� �������� �����	����
 :���  

60-Hz and 1 280 × 720/50/P systems – 

for(h=0; h<4; h++){ 

    for(s=0; s<2; s++){ 

        for(k=0; k<27; k++){ 

            for(t=0; t<5; t++){ 

       a = (4h + s + 2t + 2) mod 10; 

       b = (4h + s + 2t + 6) mod 10; 

       c = (4h + s + 2t + 8) mod 10; 

       d = (4h + s + 2t + 0) mod 10; 

       e = (4h + s + 2t + 4) mod 10; 

                     DBNq = (5t + 25k) mod 135; 

                     DSNp = INT((5t + 25k + 675s) / 135); 

       V DBNq, h of DSNp = CM h,a,2,k 

       V (DBNq + 1), h of DSNp = CM h,b,1,k 

       V (DBNq + 2), h of DSNp = CM h,c,3,k 

       V (DBNq + 3), h of DSNp = CM h,d,0,k 

       V (DBNq + 4), h of DSNp = CM h,e,4,k 

            } 

        } 

    } 

} 

where  

 DBNq:  DIF block number 

 DSNp:  DIF sequence number 

 h:  Divided block 

 s, t:  Vertical order of super block 

 k:  Macro block order in super block 

1 920 × 1 080/50/I system – 

for(h=0; h<4; h++){ 

    for(k=0; k<27; k++){ 

        for(i=0; i<11; i++){ 

       a = (4h + i + 2) mod 11; 

       b = (4h + i + 6) mod 11; 

       c = (4h + i + 8) mod 11; 

       d = (4h + i + 0) mod 11; 

       e = (4h + i + 4) mod 11; 

                     DBNq = (5i + 55k) mod 135; 

                     DSNp = INT((5i + 55k) / 135); 

       V DBNq, h of DSNp = CM h,a,2,k 

       V (DBNq + 1), h of DSNp = CM h,b,1,k 

       V (DBNq + 2), h of DSNp = CM h,c,3,k 

       V (DBNq + 3), h of DSNp = CM h,d,0,k 

       V (DBNq + 4), h of DSNp = CM h,e,4,k 

        } 

    } 

} 

for(k=0; k<27; k++){ 

                   DBNq = 5k; 

                   DSNp = 11; 

       V DBNq, 0 of DSNp = CM 0,11,0,k 
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       V (DBNq + 1), 0 of DSNp = CM 0,11,1,k 

       V (DBNq + 2), 0 of DSNp = CM 0,11,2,k 

       V (DBNq + 3), 0 of DSNp = CM 0,11,3,k 

       V (DBNq + 4), 0 of DSNp = CM 0,11,4,k 
} 

:�	L  
DBNq:   /������� }��DIF  
DSNp:   q$�&&�� }��DIF 

h:  �
-�K# /���O  
i:  �Ko�O /������� �hI��� k	.�&��  
k:  �Ko���� /������� � �
h���� /������ k	.�..  

f�� 1��22  
 #	�$���DIF  -"-���� ?�./ & �R�ST4� ��5���� #	�$���; ���������Hz 60  

 +�9$�� ���DIF ��� �����'�DIF+�r3]*��DIF �P�b�0� �/)���� +�r3]*�� 

0 

0 

V 0,0 CM 0,2,2,0 

V 1,0 CM 0,6,1,0 

V 2,0 CM 0,8,3,0 

V 3,0 CM 0,0,0,0 

V 4,0 CM 0,4,4,0 

: : 

: : : 

9 
: : 

V 134,0 CM 0,3,4,26 

1 

0 

V 0,1 CM 1,6,2,0 

V 1,1 CM 1,0,1,0 

V 2,1 CM 1,2,3,0 

V 3,1 CM 1,4,0,0 

V 4,1 CM 1,8,4,0 

: : 

: : : 

9 
: : 

V 134,1 CM 1,7,4,26 

: : : : 

3 

0 

V 0,3 CM 3,4,2,0 

V 1,3 CM 3,8,1,0 

V 2,3 CM 3,0,3,0 

V 3,3 CM 3,2,0,0 

V 4,3 CM 3,6,4,0 

: : 

: : : 

9 
: : 

V 134,3 CM 3,5,4,26 
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f�� 1��23  
 #	�$���DIF �R�ST4� ��5���� #	�$���; ���������  

 ?�.��� &  1 920 × 1 080/50/I  
 +�9$�� ���DIF ��� �����'�DIF+�r3]*��DIF �P�b�0� �/)���� +�r3]*�� 

0 

0 

V 0,0CM 0,2,2,0 

V 1,0CM 0,6,1,0 

V 2,0CM 0,8,3,0 

V 3,0CM 0,0,0,0 

V 4,0CM 0,4,4,0 

:: 

::: 

10 

:: 

V 134,0CM 0,3,4,26 

11 

V 0,0CM 0,11,0,0 

V 1,0CM 0,11,1,0 

:: 

V 134,0CM 0,11,4,26 

1 

0 

V 0,1CM 1,6,2,0 

V 1,1CM 1,10,1,0 

V 2,1CM 1,1,3,0 

V 3,1CM 1,4,0,0 

V 4,1CM 1,8,4,0 

:: 

::: 

10 

:: 

V 134,1CM 1,7,4,26 

11 

V 0,1－ 

:: 

V 134,1－ 

: ::: 

3 

0 

V 0,3CM 3,3,2,0 

V 1,3CM 3,7,1,0 

V 2,3CM 3,9,3,0 

V 3,3CM 3,1,0,0 

V 4,3CM 3,5,4,0 

:: 

::: 

10 

:: 

V 134,3CM 3,4,4,26 

11 

V 0,3－ 

:: 

V 134,3－ 
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f�� 1��24  
 #	�$���DIF �R�ST4� ��5���� #	�$���; ���������  

 &?�.��� 1 280 × 720/50/P   
 +�9$�� ���DIF ��� �����'�DIF+�r3]*��DIF �P�b�0� �/)���� +�r3]*�� 

0 

0 

V 0,0CM 0,2,2,0 

V 1,0CM 0,6,1,0 

V 2,0CM 0,8,3,0 

V 3,0CM 0,0,0,0 

V 4,0CM 0,4,4,0 

:: 

::: 

9 

:: 

V 134,0CM 0,3,4,26 

10 

V 0,0－ 

:: 

V 134,0－ 

11 

V 0,0－ 

:: 

V 134,0－ 

1 

0 

V 0,1CM 1,6,2,0 

V 1,1CM 1,0,1,0 

V 2,1CM 1,2,3,0 

V 3,1CM 1,4,0,0 

V 4,1CM 1,8,4,0 

:: 

::: 

9 

:: 

V 134,1CM 1,7,4,26 

10 

V 0,1－ 

:: 

V 134,1－ 

11 

V 0,1－ 

:: 

V 134,1－ 

: ::: 

3 

0 

V 0,3CM 3,4,2,0 

V 1,3CM 3,8,1,0 

V 2,3CM 3,0,3,0 

V 3,3CM 3,2,0,0 

V 4,3CM 3,6,4,0 

:: 

::: 

9 

:: 

V 134,3CM 3,5,4,26 

10 

V 0,3－ 

:: 

V 134,3－ 

11 

V 0,3－ 

:: 

V 134,3－ 
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4  �������	 
��
��	  

 �
<=>� � ����	��� 2�34=A� �f�
# }�K�� �*+ "-
4&�1 080/60/I × 1 920 �1 080/50/I × 1 920 �720/60/P × 1 280 
�1 280 × 720/50/P.  

1.4 ��
���� ����  

1.1.4 ������� U����� ����  
 �	%�&��$ ���	��� D�	&5� �	!$ ��. DI klITU-R BT.709 	O�
   2��p� �#�<= n¨1 920 × 1 080  s&	%�&��$�

ITU-R BT.1543 �ITU-R BT.1847 	O�
  2��p� �#�<= n¨720 × 1 2801��f� ?�0�� . 25  /���E "��R.
^�B!�� (Y) ¦���� ����� ­���E� )CR �CB )��i>�� �¢®� DE .((�� W��H!-	
�� ��05 ����	O WY8 "# � ��&� ¦�§ rE

�� ��&��I  WR0�� � �f�
# /����O 1�I) D�	&5A� /8�5E �	�

$ '6O�. "RS �]~I1.(  

1.1.1.4  L������� ����� ��D�2�� ����  
 ?�.���1 920 × 1 080/60/I  
Wh�� 1 920 W�R	$ F^�B!�� �960 W�R	$ ~ F�Y W~ � ¦���� ����� ­���E "# WR��
 WR0�� � "-	�# �+ 10 .

s.����� "# ��	0!�� /�&��� � D�	&5A� c�$ ��K=� CR �CB  W]# �N��= D�R./���E  "# ��	0!�� /�&��� � D�	&5A� c�$
/����� Y W~ 1��t&�� .W�R	$ ) ��!	!ZA� ���
R# /��� rE−508 rE 507 _��v "5 ( /���E � ��A8 �]~>� �&��� k��
WY��� .�����	���  

 Q�<!��1 920 × 1 080/50/I  
Wh�� 1 920 W�R	$ F^�B!�� �960 W�R	$ ~ F�Y W~ � ¦���� ����� ­���E "# WR��
 WR0�� � "-	�# �+ 11 .

s.����� "# ��	0!�� /�&��� � D�	&5A� c�$ ��K=� CR �CB  W]# �N��= D�R./���E  c�$ "# ��	0!�� /�&��� � D�	&5A�
/����� Y W~ 1��t&�� .W�R	$ ) ��!	!ZA� ���
R# /��� rE−508 rE 507 /���E � ��A8 �]~>� �&��� k�� _��v "5 (

.�����	��� WY���  

 ?�.���1 280 × 720/60/P   
Wh�� 1 280 W�R	$ F^�B!�� �640 W�R	$ ~ F�Y W~ � ¦���� ����� ­���E "# WR��
 WR0�� � "-	�# �+ 12 .

s.����� "# ��	0!�� /�&��� � D�	&5A� c�$ ��K=� CR �CB  "# ��	0!�� /�&��� � D�	&5A� c�$ ��K= W]# �N��= D�R.
/����� Y W~ 1��t&�� .W�R	$  ��!	!ZA� ���
R# /��� rE)−508 rE 507�� _��v "5 ( /���E � ��A8 �]~>� �&��� k
WY��� .�����	���  
 ?�.���1 280 × 720/50/P  
Wh�� 1 280 W�R	$ F^�B!�� �640 W�R	$ ~ F�Y W~ � ¦���� ����� ­���E "# WR��
 WR0�� � "-	�# �+ 12 .

s.����� "# ��	0!�� /�&��� � D�	&5A� c�$ ��K=� CR �CB  "# ��	0!�� /�&��� � D�	&5A� c�$ ��K= W]# �N��= D�R.
/����� Y W~ 1��t&�� .W�R	$  ��!	!ZA� ���
R# /��� rE)−508 rE 507 /���E � ��A8 �]~>� �&��� k�� _��v "5 (
WY��� .�����	���  

2.1.1.4  L������� ����� & F��G� ����  
 F��G� ?�./1 920 × 1 080  

Wh�� 540 b��Y �����¯� Y �CR �CB 1��f� "-	��� .1�° W~ "# 25 "# �L�� W~ � ���h���� 2��p� .s��±�  
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F��G� ?�./ 1 280 × 720  
Wh�� 750 b��Y  �����¯� Y �CR �CB  W~ "# .����	O W.�1��f� "-	��� 25  W~ � ���h���� 2��p�W.� ����	O.  

3.1.1.4  V��(%0 U����A� �-��W  

 ?�.���1 920 × 1 080/60/I   
������� Y ��h��$ b�	KOI �=�&
�� 1 920 W�R	$ rE ���	&5� 8�
� 1 280 W�R	$�������� . CR �CB  ��h��$ b�	KOI �=�&
��

960  W�R	$rE ���	&5� 8�
� 640 W�R	$����. �!-	5 �=��&h� D�	&5A� �	
# � \�p� /���� D�R�� . 8  �]~I �I ��&$
_t��� �<=�) 2.(  

 ?�.���1 920 × 1 080/50/I   
������� Y ��h��$ b�	KOI �=�&
�� 1 920  W�R	$rE ���	&5� 8�
� 1 440 W�R	$~ .�
 ������� DI CR �CB  b�	KOI �=�&
��

��h��$ 960  W�R	$rE ���	&5� 8�
� 720 W�R	$ D�	&5A� �	
# � \�p� /���� D�R�� . ����. �!-	5 �=��&h�8  ��&$
�I _t��� �<=�) �]~I 2.(  

 U�
�.���1 280 × 720/60/P ;1 280 × 720/50/P  
������� Y ��h��$ b�	KOI �=�&
�� 1 280 W�R	$ rE ���	&5� 8�
� 960 W�R	$������� . CR �CB ��h��$ b�	KOI �=�&
�� 640 

W�R	$ rE ���	&5� 8�
� 480 W�R	$ D�R�� .����. �!-	5 �=��&h� D�	&5A� �	
# � \�p� /���� 8 �I ��&$  �<=�) �]~I
_t��� 2.(  

f�� 1��25  
#�B��� ��������� ���
��4�  

 

������ 
1 080/60/I × 1 920 

������  
1 080/50/I × 1 920  

������  
 720/60/P × 1 280 

������  
720/50/P × 1 280 

��	
��� 
�
�� 

YMHz 1,001 / 74,25 MHz 74,25  MHz 1,001 / 74,25  MHz 74,25  
CR �CB MHz 1,001 / 37,125 MHz 37,125  MHz 1,001 / 37,125  MHz 37,125  

����� 
��������	���  �
�� ��

Y2 2002 640 1 650 1 980 

CR �CB 1 1001 320 825 990 


������	��� � !"	#���
�� ��

Y1 9201 280 

CR �CB 960640 

��$ �� � %&"'� () ����� 
���� *&+�	,1 125750 

*&+�	, ��$ �� � !"	#��� %&"'� 
��1 080720 

!"	#��� %&"'� 
���- 

.�/�1  2101560  
26  01745 .�/�2  58401123  

!	2�� 01 3�	"� 4��2�) !��	� ��10  ��$�56� ��
7Y 8CR 8CB  

97 !:����  4$�5;� !+&<
4��2�=� !+&���8 !+&+�	>�� 

?+$�
�� 4 011 019  

Y 

:A	7B� !+&+�	>�� 4$�5;� !+&<9404��2�=� !�+&��� 877 :
&<B� !+&+�	>�� 4$�5;� !+&<64

CR �CB :*
�)��� !+&+�	>�� 4$�5;� !+&<5124��2�=� !+&��� 897 
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0��� WR10  
 ������ � 	�
��
� �
��1 080/60/I × 1 920  

     

�X���  
) Y�B���Y(  

1620-10

 ���584

T

����	
����
�
� ����
� � ����

2T

Z�G�  
 Y�B���(Y) 

Z�G�  
 [���� \����CR)] (CB 

T = 1.001/74.25 µs

3T

 ���21

 ���584

 ���22

 ���585

 ���21

 ���22

 ���585

 ���21

  ���584

 ���22

  ���585

 ���21

  ���584

 ���22

  ���585

T
3
2

��� � ���� ��
�
� ��� 

��� � ���� ��
�
� ��� 

��� � ���� ��
�
� ��� 

��� � ���� ��
�
� ��� 

�X���  
[���� \���� CR)] (CB  
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0��� WR11 

 ������ � 	�
��
� �
��1 080/50/I × 1 920  

Z�G�  
 [���� \����CR)] (CB 

�X���  
 [���� \����CR)] (CB 

 ���584

T

����	
����
�
� ����
� � ����

2T

µs

T

 ���21

 ���584

 ���22

 ���585

 ���21

 ���22

 ���585

 ���21

 ���584

 ���22

 ���585

 ���21

 ���584

 ���22

 ���585

T

4
3

8
3

T = 1/74.25

Z�G�  
 Y�B���(Y) 

1620-11  

 � ���� ��
�
� ������ 

 � ���� ��
�
� ������ 

 � ���� ��
�
� ������ 

 � ���� ��
�
� ������ 

�X���  
 Y�B���(Y) 
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0��� WR12  
������ � 	�
��
� �
��� 720/60/P �720/50/P 

  

  

 ���27

T

����	
����
�
� ����
� � ����

2T

��� � ���� ��
�
� ��� 

���� ��
�
� ��� ��� � 

�X���  
) Y�B���Y(  

Z�G�  
 [���� \����CR)] CB( 

T = 1.0011/74.25 in 720/60p  

T = 1/74.25 in 720/50 

T

 ���26

 ���27

 ���28

 ���29

 ���26

 ���28

 ���29

 ���26

 ���27

 ���28

 ���29

 ���26

 ���27

 ���28

 ���29

T
4
3

���� ��
�
� ��� ��� �

8
3

��� � ���� ��
�
� ��� 

Z�G�  
) Y�B���Y(  

�X���  
 [���� \����CR)] CB(  

1620-11  
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2.1.4   +�(�4� K�^��� ���E��� �#=�$%(DCT)  
 }-�K.�G�R	$ ������� Y �CR �CB  W.� W~ �� W��t&�� ����O rE ����	O��	e&� q�K&�� (DCT)~ F�
  � "�	�# �+
WR0�� 13  2��p� Q�<!�1 080 × 1 920WR0�� �� F 14  2��p� Q�<!�720 × 1 280������� ²�.� . DCT  ��h �

"# ���# W	�&�# 8 � �	hI� �%�!58  �
	� 1�.� .����	��� W.��� � �	KOI �%�!5×  "# b�c�$ �KO>� �Z��L�� x�5s
	�� F
 �
	� 1�. �
!	$y  2��p� Q�<= �� .³I��� "# b�c�$ �hI��� �Z��L�� x�51 080 × 1 920  �	J�M�� }	K�� 2��Y D�R.

¯� �Z��Ly = 0 F2 F4F6  1�±� "# �	KO>� 2��p� �+ 1 �Z��L¯� ��8���� }	�K�� 2��Y� Fy = 1 F3 F5 F7  2��p� �+
1�±� "# �	KO>� 2.  

 #	�$��� �2����DCT L����% ��# �_ &  
 ?�.���1 080/60/I × 1 920  

������� ��	.�. D�R. DCT ~ ����	O W.� W~ � �	KO>��
  � s�# �+WR0�� 15 �KO>� k	.�&�� ��= �-�R&�� .
�L 135  /����ODCT  }-�K.� .�hI��� '��A� ��G�R	��� x�5 �L�� ����	O W.� � 43 200 /����O DCT.  

Y:  135  /����ODCT �	hI� × 160  /����ODCT  = �	KOI21 600  /��ODCT 

CR:  135  /��ODCT  �	hI�× 80  /��ODCT  = �	KOI10 800  /���ODCT 

CB:  135  /����ODCT �	hI� × 80  /����ODCT  = �	KOI10 800  /���ODCT.  
 ?�.���1 080/50/I × 1 920  

������� ��	.�. D�R. DCT ~ ����	O W.� W~ � �	KO>��
 WR0�� � "-	�# �+ 16 �KO>� k	.�&�� ��= ��R&�� .
�L 135 /���O DCT  }-�K.� .�hI��� '��A� ��G�R	��� x�5 �L�� ����	O W.� � 48 600 /����O DCT.  

Y:  135  /����ODCT �	hI� × 180  /����ODCT �	KOI = 24 300  /��ODCT 

CR:  135  /��ODCT  �	hI�× 90  /��ODCT �	KOI = 12 150  /���ODCT 

CB:  135  /����ODCT �	hI� ×90   /����ODCT �	KOI = 12 150  /���ODCT.  
 U�
�.���720/60/P × 1 280 ;720/50/P × 1 280  

 ������� ��	.�. D�R.DCT ~ ����	O W.� W~ � �	KO>��
 WR0�� � "-	�# �+ 17 �KO>� k	.�&�� ��= ��R&�� .
�L 90  /����ODCT  }-�K.� .�hI��� '��A� ��G�R	��� x�5 �L�� ����	O W.� � 21 600 /����O DCT.  

Y:  90  /����ODCT �	hI� × 120  /����ODCT �	KOI = 10 800  /��ODCT 

CR:  90  /��ODCT �	hI� × 60  /��ODCT �	KOI = 5 400  /���ODCT 

CB:  90  /����ODCT �	hI� × 60  /����ODCT �	KOI = 5 400  /���ODCT.  

3.1.4  ��5���� �#=�$���  
����O ¦�§ "# �
h�� /����O W~ D-�R&. DCTWR0��� . 18 2��p� �#�<!$ ´�Y   1 080×  1 920WR0�� �
!	$ 19  ´�Y

2��p� �#�<!$ 1 280 × 720.  

1.3.1.4  ��5���� �#=�$��� �2����  
 ?�.���1 080/60/I × 1 920 

� W~ � �
h���� /������� ��	.�. ���&.:s&	��&�� s.��p� "# ����	O W.  
 �����1��	��
� ��
��
� ����� :  

 }-�K.�G�R	��� x�5 ����	O W.� W~ � 5 400 ~ F�
h�� /����O�
 WR0�� "-	�� 20.  
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"# F���
K�� �
h���� ������ c�!]&h�$ F�
h�� /���O W~ D-�R&. 4 ����O DCT /����� "# Y  "#� Fb�	hI�� b�	KOI /���e&#
s.���O DCT /����� "# CR s.��O "#� Fb�	hI� s.���e&# DCT /����� "# CB s.���e&#  Tb�	hI�  

FD�R	O 67 �	hI� �
h�� /����O ×80  �	KOI �
h�� /����O = 5 360 /����O �
h��.  
"# ���
� �
h�� /����O W~ D-�R&.� 4 ����O DCT /����� "# Y s.����O "#� Fb�	KOI /���e&# DCT /����� "# CR 

s.����O "#� Fb�	KOI s.���e&# DCT /����� "# CB Tb�	KOI s.���e&#  
 /�L�� �	hI� �
h�� /����O FD�R	O× 40 �	KOI �
h�� /����O = 40 �
h�� /����O.  

 �����2��	��
� �
�
� ����� ����� :  

~�
 WR0�� � "-	�# �+ 20"# /�L�� W~ D-�R&. ��5�
° k-.�. F 40 "# x
�. �
h�� /����O A0 rE A7 "#� F
"# /�L�� W~ D-�R&. ��5�
° 30 "# x
�. �
h�� /��O  A8 rE A15 .  

k-.�.� 40 �5�
±� � �
h�� /����O A16  �4 �	hI� �
h�� ���O × 10 �5�
±� � �	KOI �
h�� ��O B16  Fk	.�&�� x�5
~�
 WR0�� � 20T  

FD�R	O 60 �	hI� �
h�� /��O × 90 �	KOI �
h�� /��O = 5 400 /��O .�
h��  

 ?�.���1 920 × 1 080/50/I  
:s&	��&�� s.��p� "# ����	O W.� W~ � �
h���� /������ ��	.�. ���&.  

 �����1��	��
� �
��
� ����� :  

 }-�K.�G�R	��� x�5 ����	O W.� W~ � 6 075 ~ F�
h�� /����O�
 WR0�� "�	�� 21.  
 "# F���
K�� �
h���� ������� c�!]&h�$ F�
h�� /����O W~ D-�R&.4  ����ODCT �� "#/��� Y  "#� Fb�	hI�� b�	KOI /���e&#

s.��O DCT /����� "# CR s.���O "#� Fb�	hI� s.���e&# DCT /����� "# CB s.���e&#  Tb�	hI�  
FD�R	O 67  �	hI� �
h�� /����O× 90 �	KOI �
h�� /����O = 6 030 �
h�� /����O.  

"# ���
� �
h�� /����O W~ D-�R&.� 4 ���O DCT /����� "# Y s.����O "#� Fb�	KOI /���e&# DCT /����� "# CR 
s.��O "#� Fb�	KOI s.���e&# DCT /����� "# CB Tb�	KOI s.���e&#  

/�L�� �	hI� �
h�� /����O FD�R	O × 45 �	KOI �
h�� /����O = 45 /����O �
h��.  
 �����2��	��
� ��
��
� ����� ����� :  

 rE �
h���� ������ }-�K.� /8�J��� �	hI��� �
h���� ������� x�5 �O�¡� /�L� ��&H� .�O�L /�L�� ��M~�# /�L� A0 
� /8�J��� ���
K�� �
h���� ������ x�5� A1~ F�
 WR0�� "-	�� 21 .I�# ��� /�L��������� x�5 ��&t&O ��M~ T�	K�&��  

:D�R	O  
 :��M~��� /�L���66 �	hI� �
h�� /����O ×90  �	KOI �
h�� /����O = 5 940 /����O .�
h��  

/�L�� �	hI� �
h�� /����O :�O�¡� /�L� × 135 �	KOI �
h�� /����O = 135 /����O .�
h��  

 U�
�.���720/60/P × 1 280 ;720/50/P × 1 280 

 }-�K.�G�R	��� x�5 ����	O W.� W~ � 2 700 ~ F�
h�� /����O�
 WR0�� "-	�� 22T  
FD�R	O 45 �	hI� �
h�� /����O × 60 �	KOI �
h�� /���O = 2 700 /����O .�
h��  
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2.3.1.4  ���̀(4� #	�$���  
 ?�.���1 080/60/I × 1 920 

~ F_����� �B= ���O rE ����	O W.� W~ � �
h���� ����� }-�K.�
 WR0�� "-	�� 23_����� �B= /���O W~ D-�R&.� .  H 
/�L�� �
h�� /���O "#� b�	KOI �
h�� ����O q�. "# .b�	hI�  

_����� �B= ���O ^-i�.� H ~ �
-�K�� ������ rE�
 :���  
:�
��K�� �������  0=h:  H 2m �2n  

    :1=h  H 2m �1+2n  
  :2=h  H 2m + 1,2n   
    :3=h  H 2m + 1+1,2n   
    �	L  m = 0F  1F 2F F... 29  
      n =0 F 1F 2F 3F 4.  

"# �
-�K# /��O W~ D-�R&.� .�
-�K# ���O q$�I rE }-�K� b��L�� b�����	O bG.� DI �e	&!�� D�R.� 30  �
h�� /����O
�	hI� × 45 �
h�� /����O �	KOI.  

 ?�.���1 080/50/I × 1 920 

~ _����� �B= ���O rE ��M~��� /�L��� � /8�J��� �
h���� ������ }-�K.�
 WR0�� "�	�� 24 . �B= /���O W~ D-�R&.�
_����� H /���e&# �
h�� ���O q�. "# .b�	KOI  

_����� �B= ���O ^-i�.� H ~ �
-�K�� ������ rE�
 :���  
:�
��K�� �������  0=h:  H 2m �2n 

    :1=h  H 2m �1+2n 

  :2=h  H 2m +  1,2n 

    :3=h  H 2m + 1+1,2n  

    �	L   m =0F 1F2 F F..... 32 

      n =0 F 1F 2F 3F 4.  
"# �
-�K# /���O W~ D-�R&.� .�
-�K# ����O q$�I rE }-�K. ��M~��� /�L��� DI �e	&!�� D�R.� 33 �	hI� �
h�� /����O × 45 

�
h�� /����O �	KOI.  
 U�
�.���720/60/P ×  1 280;720/50/P × 1 280 

~ _����� �B= ���O rE ����	O W.� W~ � /8�J��� �
h���� ������ }-�K.�
 WR0�� "-	�� 25 �B= /���O W~ D�R&.� .
_����� H  "#� b�	KOI �
h�� ���O �h "#/�L�� �
h�� /���O b�	hI�.  

_����� �B= ���O ^-i�.� H ~ �
-�K�� ������ rE�
 :���  
:�
��K�� �������  0=h:  H m �2n  

    :1=h  H m �1+2n  
  :2=h  45+m H �2n  
    :3=h  45+m H �1+2n  
    �	L   m =0F 1F2 F ... F 44  
      n =0 F 1F 2F 3F 4.  

 s����	O s�.� W~ DI �e	&!�� D�R.�b�
�K# "# �
-�K# /���O W~ D-�R&.� .�
-�K# ���O q$�I x�5 45  �
h�� /��O
�	hI� × 30 �
h�� /���O �	KOI.  
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0��� WR13  
 ��������DCT  ��
����������
!��  "#$%� ���& �1 080 × 1 920  

  
0��� WR14  

 ��������DCT  ��
����������
!��  "#$%� ���& �720 × 1 280  

 

0��� WR15  
 �������� �!
'('DCT  ������ �1 08/60/I × 1 920  

  1620-15

����  ����160 DCT ��
 ����DCT !"#�$


 ����DCT %"$
� &��$
  

����  ���� 80 DCT ��

'(���)8×8

*+�

*+�

1620-14

0,0 1,0 2,0 3,0 4,0 5,0 6,0 7,0

0,1 1,1 2,1 3,1 4,1 5,1 6,1 7,1

0,2 1,2 2,2 3,2 4,2 5,2 6,2 7,2

0,3 1,3 2,3 3,3 4,3 5,3 6,3 7,3

0,4 1,4 2,4 3,4 4,4 5,4 6,4 7,4

0,5 1,5 2,5 3,5 4,5 5,5 6,5 7,5

0,6 1,6 2,6 3,6 4,6 5,6 6,6 7,6

0,7 1,7 2,7 3,7 4,7 5,7 6,7 7,7

*+�

y

�,- 

7 = y 
����)×=6 

1620-13

0,0 1,0 2,0 3,0 4,0 5,0 6,0 7,0

0,1 1,1 2,1 3,1 4,1 5,1 6,1 7,1

0,2 1,2 2,2 3,2 4,2 5,2 6,2 7,2

0,3 1,3 2,3 3,3 4,3 5,3 6,3 7,3

0,4 1,4 2,4 3,4 4,4 5,4 6,4 7,4

0,5 1,5 2,5 3,5 4,5 5,5 6,5 7,5

0,6 1,6 2,6 3,6 4,6 5,6 6,6 7,6

0,7 1,7 2,7 3,7 4,7 5,7 6,7 7,7

*+�

y

�,- 

��.�1

��.�2

��.�2

��.�1

��.�2

��.�1

��.�2

��.�1

����)×=6 
7 = y

������ x

������ x
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0��� WR16  
 �������� �!
'('DCT  ������ �1 080/50/I × 1 920  

  
  

0���WR17  
 � �������� �!
'(' �������720/60/P × 1 280 �720/50/P × 1 280  

  
  

0��� WR18  
 �)������ �*+�#�� �������DCT  "#$%� ���& �1 080 × 1 920 

  
  

0��� WR19  
 �)������ �*+�#�� �������DCT  "#$%� ���& �720 × 1 280  

 

1620-19

DCT0 DCT1

DCT2 DCT3

���,

DCT4

�-

Y
DCT0 DCT1

DCT6

DCT2 DCT3

DCT5

DCT7

���

���

1620-18

DCT0 DCT1 DCT2 DCT3

DCT0 DCT1

DCT2 DCT3 DCT0 DCT1 DCT2 DCT3

DCT0 DCT1

DCT2 DCT3

���,

DCT4

�- 

Y

DCT0 DCT1

DCT6

CR

CB

DCT2 DCT3

DCT5 DCT7

/��O �
h�� ���
� 

���,

DCT4

�-

Y
DCT0 DCT1

DCT6

C
R

B

DCT2 DCT3

DCT5

DCT7
���

1620-17

����  
����120 DCT ��

 ����DCT !"#�$


 ����DCT %"$
� &��$

����  ����60 DCT ��

'(���)8×8

*+�

*+�

1620-15

 
����180 DCT ��

 ����DCT %"$
� &��$


���� ���� 90 DCT �� 

'(���)8×8

*+�

*+�

����
 ����DCT !"#�$


C

C
C

R

B

���
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0��� WR20  
 ������ � �*+�#�� ������ �!
'('1 080/60/I × 1 920  

  
   

1620-20

A0 A1 A2 A3 A4 A5 A6 A7

A8 A9 A10 A11 A12 A13 A14 A15

10 10 10 10 10 10 10 10 10 �*+�� �)��. 

A16

4�*+�� �)��. 

��5���� #	�$��� a����  ���G�1:

A0 

A1 

A3 

A4 

A5 

A6 

A7 

A8 

A9 
A10

A11
A12

A13

A14

A15

B16

4 �,/�� ��0�

 0  1  2

10 11 12

20 21 22

30 31 32

  8   9

18 19

28 29

38 39

38 39  1   2   3  0

A16 B16

/
'(' �0���A16  1�B16

60�*+�� ����. 

3�*+�� �)��. 

1�*+�� ���. 

�*+�� �)��. �,(*2  

60   
 ����.  
�*+�� 

A2 

4  ��0��,/��
4 �,/�� ��0�
4 �,/�� ��0�
4 �,/�� ��0�
4 �,/�� ��0�
4 �,/�� ��0�
4 �,/�� ��0�
3 �,/�� ��0�
3 �,/�� ��0�
3 �,/�� ��0�
3 �,/�� ��0�
3 �,/�� ��0�
3 �,/�� ��0�
3 �,/�� ��0�
3 �,/�� ��0�
3 �,/�� ��0�
4  ��0��,/��

10 �*+�� �)��. 

90�*+�� ����. 

 ���G�2: �-��W��5���� #	�$��� a����
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0��� WR21  
 ������ � �*+�#�� �)����� �!
'('1 080/50/I × 1 920  

  
  

1620-21

�,(*2 �*+�� ���. 

90�*+�� ���.

 ���G�1��5���� #	�$��� a���� :

A0 1 �*+�� ���.

66 �*+�� ���.

A1 1 �*+�� ���.

 ���G�2��5���� #	�$��� a���� �-��W :

45�*+�� ���.

90�*+�� ����.

A0

66 �*+�� ����.

A1

90�*+�� ����. 45�*+�� ����.

1�*+�� ����.

��8_�4� ��c���

�%�6� ��c;

�
+3� �*+�� ���.
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0��� WR22  
 � �*+�#�� �)����� �!
'(' �������720/60/P × 1 280 �720/50/P × 1 280  

  
 

   

1620-22

45

�#�$%
��5�;

60�#�$%��5�;
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0��� WR23  
 ������ � �45�67� �)�����1 080/60/I × 1 920 

   1620-23

H59,0 H59,1 H59,2

H0,0 H0,1 H0,2

H1,0 H1,1 H1,2

H2,0 H2,1 H2,2

H0,9

H1,9

H2,9

H59,9

1 �
h�� /���O

9 9 9

H58,0 H58,2

H0,2

H2,0 H2,2

H0,8

H2,8

H58,8 H58,1 H58,3

H0,1 H0,3

H2,1 H2,3

H0,9

H2,9

H58,9

1 = h��"�(
 �#�$%

H0,0

H59,0 H59,2

H1,0 H1,2

H3,0 H3,2

H1,8

H3,8

H59,8 H59,1 H59,3

H1,1 H1,3

H3,1 H3,3

H1,9

H3,9

H59,9

1 �
h�� /���O
1 �
h�� /���O

1 �
h�� /���O

9 �
h�� ���O

60

/���O
�
h��

45 �
h�� /���O45 �
h�� /���O

30

/���O
�
h��

30

/���O
�
h��

0 =h ��"�(
 �#�$%

45 �
h�� /���O45 �
h�� /���O

30

/���O
�
h��

30

/���O
�
h��

3 = h ��"�(
 �#�$%2 = h ��"�(
 �#�$%

90�
h�� /���O
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0��� WR24  
 ������ � �45�67� �������1 080/50/I × 1 920  

   1620-

H65, H65,1 H65,2

H0,0 H0,1 H0,2

H1,0 H1,1 H1,2

H2,0 H2,1 H2,2

H0,9

H1,9

H2,9

H65,9

9 9 9

H64,0 H64,2

H0,0 H0,2

H2,0 H2,2

H0,8

H2,8

H64,8 H64,1 H64,3

H0,1 H0,3

H2,1 H2,3

H0,9

H2,9

H64,9

1 = h ��"�(
 �#�$%

H65,0 H65,2

H1,0 H1,2

H3,0 H3,2

H1,8

H3,8

H65,8 H65,1 H65,3

H1,1 H1,3

H3,1 H3,3

H1,9

H3,9

H65,9

1 �
h�� /���O

1 �
h�� /���O

1 �
h�� /���O

66

/���O
�
h��

45 �
h�� /���O

9 �
h�� ���O

45 �
h�� /���O

33

/���O
�
h��

33

/���O
�
h��

2 = h ��"�(
 �#�$%

45 �
h�� /���O45 �
h�� /���O

33

/���O
�
h��

3 = h ��"�(
 �#�$%

33

/���O
�
h��

0 = h ��"�(
 �#�$%

1 �
h�� /���O

90�
h�� /���O��8_�4� ��c���
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0��� WR25  
 � �45�67� �)����� �������720/60/P × 1 280�720/50/P × 1 280  

  
4.1.4  �(d���� �#=�$���  

 "# �Ko�O /����O W~ D-�R&.27 .�
h�� /����O  

 ?�.���1 080/60/I × 1 920   
~ �
-�K�� /������� � �Ko���� ������� ��	.�. D�R.�
  WR0�� � "�	�# �+26 }-�K.� .�G�R	���  x�5 �
-�K# /����O � /8�J���

50 .�Ko�O /����O  
10 �	hI� �Ko�O ����O × 5 �	KOI �Ko�O ����O = 50 .�Ko�O /����O  

1620- 25

45 /���O
�
h��

H44,0 H44,1 H44,2

H0,0 H0,1 H0,2

H1,0 H1,1 H1,2

H0,9

H1,9

H44,9

1

1

1

6 6 6 6

H89,0 H89,1 H89,2

H45,0 H45,1

H46,0 H46,1 H46,2

H45,9

H46,9

H89,9

1

1

1

6 6 6 6

2 ����	O W.�

H45,2

H44,0 H44,2

H0,0 H0,2

H1,0 H1,2

H0,8

H1,8

H44,8

H0,1 H0,3

H1,1 H1,3

H0,9

H1,9

H44,9

H89,0 H89,2

H45,0 H45,2

H46,0 H46,2

H45,8

H46,8

H89,8 H89,1 H89,3

H45,1 H45,3

H46,1 H46,3

H45,9

H46,9

H89,9

H44,1 H44,3

/���O
�
h��

/���O
�
h��

45/���O
�
h��

���O
�
h��1 ����	O W.�

30�
h�� /���O30 �
h�� /���O

45 /���O
�
h��

45/���O
�
h��

45 /���O
�
h��

1 = h��"�(
 �#�$%0 = h ��"�(
 �#�$%

2 = h ��"�(
 �#�$% 3 = h��"�(
 �#�$%

45/���O
�
h��

���O
�
h��

60 �
h�� /���O60 �
h�� /���O
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?�.��� 1 080/50/I × 1 920  
~ �
-�K�� /������� WY�8 �Ko���� ������� ��	.�. D�R.�
  WR0�� �!�	��28 .�G�R	����  x�5 }��K. �
-�K�� /������� �55  /����O

.�Ko�O  
11 �	hI� �Ko�O /���O × 5 �	KOI �Ko�O ���O = 55 .�Ko�O /���O  
�G�R	����  x�5 }��K. �O�¡� /�L� � /8�J���5 .�Ko�O ����O  

/�L�� �	hI� �Ko�O /����O × 5 �	KOI �Ko�O ����O = 5 .�Ko�O ����O  

U�
�.��� 720/60/P × 1 280 ;720/50/P × 1 280  
~ �
-�K�� /������� � �Ko���� ������� ��	.�. D�R.�
  WR0�� �!�	��30 .�G�R	����  x�5 }-�K. �
-�K�� /������� � /8�J���50  /����O

.�Ko�O  
10 �	hI� �Ko�O ����O × 5 �	KOI �Ko�O ����O = 50 .�Ko�O /���O  

5.1.4   ���,; ��5���� �#=�$��� ',#; �(d���� �#=�$��� ',# Q������D�2��  
 �Ko���� /������� }���  M#���$ �Ko���� /������� }�� "5 ���
�S h,i,j  1�R�>� � "�	���26 �28 �30.  

S h,i,j�	L h�
-�K�� /������ : h=0 F... F3 

   i�Ko���� /������� �	hI��� ��.��� : i=0 FF.... 9  8-8�&�� �#�<= �60 Hz �Hz 50 
�Q�<!�  720/50/P × 1 280  

     �i=0F... F 11  Q�<!�� �1 080/50/I × 1 920  

   j�Ko���� /������� �	KO>� ��.��� : j=0F... F 4 

�
h���� /�-����� }��  �  M#���$ �
h���� /������� }�� "5 ����
|�M h,i,j,k �	O� .k  �Ko���� /������� � �
h���� /������� ��.� rE M#��
 WR0�� � "�	���27  Q�<!��1 080/60/I × 1 920 WR0�� �� F29  Q�<!��1 080/50/I × 1 920  WR0�� ��31  s#�<!�� 

720/60/P × 1 280 �720/50/P × 1 280 /������� Wd]S 63% W	�&�# 1�R�>� '*+ �� . �� �����	� 
��
��� ��� 
���
�� ����� ��� k.  

M h,i,j,k�	L h,i,j�Ko���� /������� }�� :  
   k�Ko���� /������� � �
h���� /������� ��.� : k=0 F... F26  

 q@�#W�R	��� �  q�@�# "5 ����
|�W�R	���  M#���$P h,i,j,k,l(x,y) . x�5 1���W�R	���  �K$����$P  (���	�� rE) W��
 �5�
±�h, i, j, k, l(x,y) M#��� 1��� .l  /������� ��.� x�5DCT  s�R0�� � "�	�# �+� F�
h���� /������� �18 �19 "�	��� .

 /������� WR0�� � W	�&���DCT }��� FDCT  �
	� "5 ���
� W	�&��� WY�8I .M#����D� x �y A��D  �	Z��LE x�5W�R	��� 
 /������ �DCT ~�
 ¶�  /�K��� � D�L��0#2.1.4.  

P 
h,i,j,k,l(x,y) 

�	O� h,i,j,k�
h���� /������� }�� : 
l /������� ��.� :DCT �
h���� /������� �  

 

   (x,y)�	Z��LE :W�R	���/������� �DCT x=0 F... F7 �y =0 F... F7.  
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0��� WR26  
 ������ � �48�6� �����. � �*+�#�� �)������ �69���� �)�����1 080/60/I × 1 920 

   
0��� WR27  

 ������ � �69���� �������� � �*+�#�� ������� �!'�1 080/60/I × 1 920  

  
   

1620-27

0 1 2 3 4 5 6 7 8

9 10 11 12 13 14 15 16 17

18 19 20 21 22 23 24 25 26

k

1620- 26

Sh,0,0 Sh,0,1 Sh,0,2 Sh,0,3 Sh,0,4

Sh,1,0 Sh,1,1 Sh,1,2 Sh,1,3 Sh,1,4

Sh,2,0 Sh,2,1 Sh,2,2 Sh,2,3 Sh,2,4

Sh,3,0 Sh,3,1 Sh,3,2 Sh,3,3 Sh,3,4

Sh,4,0 Sh,4,1 Sh,4,2 Sh,4,3 Sh,4,4

Sh,5,0 Sh,5,1 Sh,5,2 Sh,5,3 Sh,5,4

Sh,6,0 Sh,6,1 Sh,6,2 Sh,6,3 Sh,6,4

Sh,7,0 Sh,7,1 Sh,7,2 Sh,7,3 Sh,7,4

Sh,8,0 Sh,8,1 Sh,8,2 Sh,8,3 Sh,8,4

Sh,9,0 Sh,9,1 Sh,9,2 Sh,9,3 Sh,9,4

1

2

3

4

5

6

7

8

0 1 2 3 4

3   
��O�
h�� �

j

i

9=i 

0

9

����

³I�

�
�
9 �
h�� ����O

sS 

1=j 
9����O�Ko�O

 

�Ko�O /���O Sh,i,j  (h=0,...,3, i=0,...,9, j=0,...,4)
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0��� WR28  
 ������ � �*+�#�� �)������ �69���� �)�����1 080/50/I × 1 920 

  
0��� WR29  

 ������ � �69�. ���. � �*+�#�� ����:��� �!'�1 080/50/I × 1 920  

  
   

1620-29

.................................................

0 1 2 3 4 5 6 7 8

9 10 11 12 13 14 15 16 17

18 19 20 21 22 23 24 25 26

0 1 2 26

�Ko�O /���O S 0,11,j  (j=0,...,4)

k

1620-28

Sh,0,0 Sh,0,1 Sh,0,2 Sh,0,3 Sh,0,4

Sh,1,0 Sh,1,1 Sh,1,2 Sh,1,3 Sh,1,4

Sh,2,0 Sh,2,1 Sh,2,2 Sh,2,3 Sh,2,4

Sh,3,0 Sh,3,1 Sh,3,2 Sh,3,3 Sh,3,4

Sh,4,0 Sh,4,1 Sh,4,2 Sh,4,3 Sh,4,4

Sh,5,0 Sh,5,1 Sh,5,2 Sh,5,3 Sh,5,4

Sh,6,0 Sh,6,1 Sh,6,2 Sh,6,3 Sh,6,4

Sh,7,0 Sh,7,1 Sh,7,2 Sh,7,3 Sh,7,4

Sh,8,0 Sh,8,1 Sh,8,2 Sh,8,3 Sh,8,4

Sh,9,0 Sh,9,1 Sh,9,2 Sh,9,3 Sh,9,4

0

1

2

3

4

5

6

7

8

9

0 1 2 3 4

���O 
�
h��

j

i

Sh,10,0 Sh,10,1 Sh,10,2 Sh,10,3 Sh,10,410 

S 0,11,0 S 0,11,2 S 0,11,3 S 0,11,4

i

�Ko�O /���O 10=i  
j=1 

S 0,11,1

����

3

�
�
9 ����O �
h��

sS

³I� 

�
-�K# /���O

�O�¡� /�L�

 

�Ko�O /���O Sh,i,j  (h=0,...,3, i=0,...,10, j=0,...,4) 
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0��� WR30  
�45�6� �����. � �*+�#�� �)������ �69���� �)�����  

 �������� 720/60/P × 1 280 �720/50/P × 1 280  

  
  

0��� WR31  
�69�. ����. � �*+�#�� �������� �!'�  �������� 720/60/P × 1 280 �720/50/P × 1 280  

1620-31

0 1 2 3 4 5

6 7 8 9 10 11

12 13 14 15 16 17

18 19 20 21 22 23

24 25 26 0 1 2

3 4 5 6 7 8

9 10 11 12 13 14

15 16 17 18 19 20

21 22 23 24 25 26

k

Super block Sh,i,j  (h=0,...,3, i=0,...,9, j=0,...,4)

  

1620-30

0

1

2

3

4

5

6

7

8

9

0 1 2 3 4

Top

Left Rightj

i

Bottom

Super block  i = 9

j = 3

Super block = 27 macro blocks

Sh,0,0 Sh,0,1 Sh,0,2 Sh,0,3 Sh,0,4

Sh,1,0 Sh,1,1 Sh,1,2 Sh,1,3 Sh,1,4

Sh,2,0 Sh,2,1 Sh,2,2 Sh,2,3 Sh,2,4

Sh,3,0 Sh,3,1 Sh,3,2 Sh,3,3 Sh,3,4

Sh,4,0 Sh,4,1 Sh,4,2 Sh,4,3 Sh,4,4

Sh,5,0 Sh,5,1 Sh,5,2 Sh,5,3 Sh,5,4

Sh,6,0 Sh,6,1 Sh,6,2 Sh,6,3 Sh,6,4

Sh,7,0 Sh,7,1 Sh,7,2 Sh,7,3 Sh,7,4

Sh,8,0 Sh,8,1 Sh,8,2 Sh,8,3 Sh,8,4

Sh,9,0 Sh,9,1 Sh,9,2 Sh,9,3 Sh,9,4

1 

�Ko�O /���O Sh,i,j  (h=0,...,3, i=0,...,9, j=0,...,4) 

sS 

/�L�� �
h�� /��O=27�Ko�O /��O

����

³I�

�
� 

�Ko�O /���O 
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6.1.4  �R�ST4� ��5���� �#=�$���; ��������� ���(�� Q����  
 "# �����	��� �
�K�� D-�R&.5 .����	��� W.��� WY�8 ���&V _v�!# "# �N
	
� P�J �
h�� ����O  

 -"-���� ?�./60-Hz  
 M h,a,p,k  �	L 10 mod (2 + i) = a� 2 = p 

 M h,b,q,k  �	L 10 mod (6 + i) = b� 1 = q 

M h,c,r,k �	L 10 mod (8 + i) = c� 3 = r  
 M h,d,s,k  �	L 10 mod (0 + i) = d� 0 = s 

M h,e,t,k �	L 10 mod (4 + i) = e� 4 = t 

�	L�  h�
-�K�� /������� : 0 = h  F    F3

   i�Ko���� /������� �	hI��� ��.��� : 0 = i  F… F9

  k�Ko���� /������� � �
h���� /������� ��.� : 0 = k  F… F26 

 -"-���� ?�./50-Hz  
������� 	
��
��  

 M h,a,p,k  �	L 11 mod (2 + i) = a� 2 = p 

 M h,b,q,k  �	L 11 mod (6 + i) = b� 1 = q 

 M h,c,r,k �	L 11 mod (8 + i) = c� 3 = r  
 M h,d,s,k  �	L 11 mod (0 + i) = d� 0 = s 

 M h,e,t,k �	L 11 mod (4 + i) = e� 4 = t 

 �	L�  h�
-�K�� /������� : 0 = h  F    F3

   i :�Ko���� /������� �	hI��� ��.��� 0 = i  F… F9

   k�Ko���� /������� � �
h���� /������� ��.� : 0 = k  F… F26 

����� 	���  

 M h,a,p,k  �	L 0 = h�11 = a� 0 = p   
 M h,b,q,k  �	L 0 = h�11 = b� 1 = q   
 M h,c,r,k �	L 0 = h�11 = c� 2 = r   
 M h,d,s,k  �	L 0 = h�11 = d� 3 = s   
 M h,e,t,k �	L 0 = h�11 = e� 4 = t   
 �	L� k�Ko���� /������� � �
h���� /������� ��.� : 0 = k  F… F26 

 M#���$ ���&�� 1�
# w�Y W�� �����	��� �
�K�� "5 �-�
��V h,i,k  "# D-�R&� �*��M h,a,p,k �M h,b,q,k �M h,c,r,k 
�M h,d,s,k �M h,e,t,k.  
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 "# q$�&&�� x�5 ��&��� 1�
# w�Y �	�
5 ���M h,a,p,k  rEM h,e,t,k 1-�t&.� �����	��� �
�K�� ��	�
# �3@ ��l� .
 �	O ��	�
# ���� rE385  "# �v�34�� �����	��� ��	�
�� �5�
° D-�R&.� .�&��$5  W~ ���&.� .�v�34# �
h�� ����O

 "# �v�34# �
h�� /����O77 
�� �&��$ M#���$ �N!5 �-�CMM#���$ ��&��� 1�
# w�Y �
$ �N!5 �-�
� �����	O �
�� W~� . 

CV h,i,k  "# D-�R&� �*��CM h,a,P,k �CM h,b,q,k �CM h,c,h,k �CM h,d,s,k �CM h,e,t,k ~�
 	O "�	�# �+�
 :���  
CM h,a,p,k:  

 �
h���� /������� "# �v�34�� ��	�

�� ��d���� c�MJ>� }<
# �I q	C x�5 /������� '*+ W
&0.M h,a,p,k©�� F�  W
&0.
 �
h���� /������� "# �v�34# ��	�
# x�5M h,b,q,k  �IM h,c,r,k  �IM h,d,s,k  �IM h,e,t,k.  

CM h,b,q,k:  

�MJ>� }<
# �I q	C x�5 /������� '*+ W
&0. �
h���� /������� "# �v�34�� ��	�

�� ��d���� cM h,b,q,k©�� F�  W
&0.
 �
h���� /������� "# �v�34# ��	�
# x�5M h,a,p,k  �IM h,c,r,k  �IM h,d,s,k  �IM h,e,t,k.  

CM h,c,r,k:  

 �
h���� /������� "# �v�34�� ��	�

�� ��d���� c�MJ>� }<
# �I q	C x�5 /������� '*+ W
&0.M h,c,r,k©�� F�  x�5 W
&0.
 �
h���� /������� "# �v�34# ��	�
#M h,a,p,k  �IM h,b,q,k  �IM h,d,s,k  �IM h,e,t,k.  

CM h,d,s,k:  

�MJ>� }<
# �I q	C x�5 /������� '*+ W
&0. �
h���� /������� "# �v�34�� ��	�

�� ��d���� cM h,d,s,k©�� F�  x�5 W
&0.
 �
h���� /������� "# �v�34# ��	�
#M h,a,p,k  �IM h,b,q,k  �IM h,c,r,k  �IM h,e,t,k.  

CM h,e,t,k:  

 �
h���� /������� "# �v�34�� ��	�

�� ��d���� c�MJ>� }<
# �I q	C x�5 /������� '*+ W
&0.M h,e,t,k x�5 W
&0. �©�� F
 �
h���� /������� "# �v�34# ��	�
#M h,a,p,k  �IM h,b,q,k  �IM h,c,r,k  �IM h,d,s,k.  

2.4   ������ �	
��� �
����� �����(DCT)  

,��% �
$�I DE  �	=�§ �N!# W~ ��G�R	$  /������� WdR0. F����	O W.� "# 1�° W~ � �	KOIDCT 2��p� Q�<= � 
1 080 × 1 920 2��p� Q�<= �� F720 × 1 280 �	=�§ �N!# W~ � ,��% �	=�§ D�O F�G�R	$  ����	��� W.��� "# �	KOI
 /������� WdR0.DCT.  
 W��t&�� DE�DCT  "#64 bG�R	$  /������� �DCT  �+ �N#���Ih, i, j, k, l (x, y)  rE64 �+ �N#���I bG#�
#  

h, i, j, k, l (u, v) 	O ?��0#�
 :���  
 �
	� DEW�R	��� P h, i, j, k, l (x, y) �+ W#�
�� �
	� �
!	$ FC h, i, j, k, l (u, v) .  
D�~ �y�O 0 = u   D�~� 0 = v   W#�
�� x5��DC.  

 �G#�
�� P�Y>� �G#�
�� q	C x5�.�AC.  

1.2.4   e��50DCT  
 2��p� Q�<= �1 080 × 1 920 F s$��h>� "# �L�� �K&!�DCT  .��&��� 1-�
# w�Y �
$ /��B�� �	5�= s�H ��3�

 U��hI �
��$ D�$��h>� D�*+ ,-�
��DCT  W.���$8-8  U��hI�DCT  1�±�$8-8��h>� c�K&=� �3�!�� . UDCT  W.���$
8-8  U��h>� c�K&=� �3�!� �
!	$ Fb�63% ����	��� W.��� � s��±� s$ ����� D�R� �#�!5DCT  1�±�$8-8  D�R� �#�!5

.b�6�~ ����	��� W.��� � s��±� s$ �����  
 U��h>� c�K&=�$ x%���DCT  W.���$8-8  �����DCT  F���
K�� �
h���� /������ � /8�J���Q�<!�� � 7�y� 1 080/60/1 × 1 920.  



�������  ITU-R  BT.1620-1  

  

49

 U��h>� c�K&=� �3�!��DCT  W.���$8�8  2��p� Q�<= �720 × 1 280. 

~�
  U��h>� ��= _-����DCT  ������� q	C x�5DCT .�
h�� /����O � /8�J���  
~��
  WR0�� "-	��32 F6&Y� �yE  U��h>�DCT  1�±�$8-8 D�O F�G�R	���  s.����O � /8�J���DCT  s.���e&# s&	hI�

 ������� W	R0&� �N�	.�. 8�
�DCT  x�5 ��&H u���G�R	��� .1�±� ��= "#  
 ·��hI x�5 _��!. u�� �	#i���p� �	��&�� /�K��� "�	�.�DCT U��hI :DCT  W.���$8-8 U��hI� FDCT  1�±�$8-8.  

:DCT  
                                        7    7 

 C h,i,j,k,l(u,v) = C(v) C(u)  ∑   ∑ (P h,i,j,k,l(x,y) COS(πv(2y + 1) / 16) COS(πu(2x + 1) / 16)) 

                                     y=0  x=0 

 U��K# DCT:  
                          7    7 

 P h,i,j,k,l(x,y) =  ∑   ∑ (C(v) C(u) C h,i,j,k,l(u,v) COS(πv(2y + 1) / 16) COS(πu(2x + 1) / 16)) 

                       v=0  u=0 

:�	L 

              C(u) = 0.5 / 2       for u = 0 

              C(u) = 0.5               for u = 1 to 7 

              C(v) = 0.5 / 2       for v = 0 

              C(v) = 0.5               for v = 1 to 7. 

 �G#�
# }�	�� DEC h,i,j,k,l (u, v)  ��h��$ ��d]¸16  �G#�
�� `���. ��l �	�5� .�&$DCT rE b�8�!&h� F"�i�&�� W�� F
 WY8 � �!-	
�� �=��&h�DCT.  

0��� WR32  
 ;#<+3 � =>��*�� /
'(' �0���DCT  ?�@��8-8  

  
2.2.4  7�>����  

 �G#�
# "�i�. ��lDCT C h,i,j,k,l (u, v)  WJI "# ���&¬�� �-
R�� ��O��B# q�@�.� .��
R�� �O��B# _��v "5
~ ¦���� ����� �����E� ^�B!�� �����E�
  WR0�� � "�	�# �+33  Q�<!��1 080/60/I × 1 920 WR0�� �� F34 Q�<!�� 

1 080/50/I × 1 920 WR0�� �� F35 s#�<!�� 1 280 × 720/60/P �720/50/P × 1 280.  

1620-32

: 

: 

 :�f� �����1 

 :�f� �����1 

 #=�$���DCT 

#=�$��� a���� �-��WDCT
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3.2.4  Z�G� a����  
 WR0�� "�	��36 .�=�i����� �G#�

�� \�p� k	.�.  

0��� WR33  
 ����<� A54�7� �.#�B�1 080/60/I × 1 920 

  
  

0��� WR34  
 ����<� C4�7� �.#�B�1 080/50/I × 1 920 

  
  

0��� WR35  
 A54�7� �.#�B� �����<�720/60/P × 1 280 �720/50/P × 1 280  

  1620-35

128 16 17 18 18 19 42 44

16 17 18 18 19 38 43 68

17 18 19 19 40 41 68 96

18 18 19 40 41 63 92 98

19 40 41 63 86 96 202

19 38 41 63 86 88 196208

42 43 68 92 96 196 218232

44 68 96 98 202 208 232246

0 1 2 3 4 5 6 7

0

1

2

3

4

5

6

7

18

128 24 26 36 36 38 84 88

24 26 36 36 38 76 86 182

26 36 38 38 80 82 182192

36 36 38 80 82 168186394

36 38 80 82 168 192382406

38 76 82 168172 354394418

84 86 182 186382 394438464

88 182192 394406 418464492

0 1 2 3 4 5 6 7

0

1

2

3

4

5

6

7

A6.3A6.3

A+3�A+3�

1620-34

128 16 17 18 18 19 42 44

16 17 18 18 19 38 43 45

17 18 19 19 40 41 45 48

18 18 19 40 41 42 46 49

18 19 40 41 42 43 48 101

19 38 41 42 43 44 98 104

42 43 45 46 48 98 109 116

44 45 48 49 101104116123

0 1 2 3 4 5 6 7

0

1

2

3

4

5

6

7

128 16 17 25 26 26 42 44

16 17 25 25 26 38 43 91

17 25 26 27 40 41 91 96

25 25 27 40 41 84 93 197

26 26 40 41 84 86 191203

26 38 41 84 86 177 197209

42 43 91 93 191197 219232

44 91 96 197 203209 232246

0 1 2 3 4 5 6 7

0

1

2

3

4

5

6

7

A6.3A6.3

A+3�A+3�

1620-33

128 16 17 18 18 19 42 44

16 17 18 18 19 38 43 45

17 18 19 19 40 41 45 48

18 18 19 40 41 42 46 49

18 19 40 41 42 43 48 101

19 38 41 42 43 44 98 104

42 43 45 46 48 98 109 116

44 45 48 49 101104116 123

0 1 2 3 4 5 6 7

0

1

2

3

4

5

6

7

128 16 17 25 26 26 42 44

16 17 25 25 26 38 43 91

17 25 26 27 40 41 91 96

25 25 27 40 41 84 93 197

26 26 40 41 84 86 191203

26 38 41 84 86 177 197209

42 43 91 93 191197 219232

44 91 96 197203209 232246

0 1 2 3 4 5 6 7

0

1

2

3

4

5

6

7

A6.3A6.3

A+3� A+3�

¦�� ��O^�B= 

¦�� ��O^�B= 

¦�� ��O^�B= 
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0��� WR36  
 ����*4<� D(%� /
'('DCT �&8E)#F7�  

  
3.4  �	�����  

1.3.4  �
�(
  
 �G#�
�� }-�K.DCT  �¹ x�5 /�L���� �����	��� �
�K�� � ��	�
�� �	
~ ��B�� �	3$ F�	
R&�� ����Y 1�

&h�$ �=�i���

 �G#�
�� � ��&��� 1�v "# -�¡� x�5� F�v�34# �
h�� ����OAC "
@ ��
J� F9 .��&$  

2.3.4  ���D��� ���2�� g�Bh  
 �G#�
�� W	]� ��lDCT :;�&�� �t!�� x�5 �=�i���  

   W#�
�� �
	�DC )9 :(��&$  b8 b7 b6 b5 b4 b3 b2 b1 b0  
��-
R#��!	!ZA�"#)255− rE255(  

   W#�
�� �
	�AC )12 (�&$:  s b10 b9 b8 b7 b6 b5 b4 b3 b2 b1 b0 

/�L�� �&$) �#G
��–/+(+11  �K���� �
	K�� �&$"#) 2 047−  rE2 047(.  

3.3.4   ���D��� ���X  
 �	
R&�� /��Y ��&«(Q-step) �����	O �
�� "# ��d��. F�v�34# �
h�� ����O �¹ W~ � ��	�
�� �	
~ "# -�¡� �	3$ F

 �	
R&�� /��Y �-�K&.� ./�L��(Q-step)  �	
R&�� }�� "#�(QNO)~ F�!B�� }�� "#� F�
  1��f� '8-�926 }�� _-���� .
 /����O W~ x�5 �!B�� }�� _-��� �
!	$ .�
h�� /����O W~ x�5 �	
R&��DCT.  

 W#�
�� �
g�I � }-�K� F"�c��JE "# ��	�
�� w�Y D-�R&��AC  W#�

�� `.�!�� ��&��� 1�v D�~ �y�O F�	
R&�� /��ºAC 
 "# �]~I -�
R��9 ��J�� *	�!. ��l F��&$ W#�
�� }-�K	O .¦�]�� cAC  �	
R. /��º F¦�]�� c��J�� � F�	=�Zqh�I  b�K�v

 W#�

�� ��&��� 1�v W
J �	3$ /���M&�� �!B�� Q���>AC  ����� �-
R��9 .W�I �I ��&$  
   

1620-36

1 2 6 7 15 16 28 29

3 5 8 14 17 27 30 43

4 9 13 18 26 31 42 44

10 12 19 25 32 41 45 54

11 20 24 33 40 46 53 55

21 23 34 39 47 52 56 61

22 35 38 48 51 57 60 62

36 37 49 50 58 59 63 64

0 1 2 3 4 6 7

0

1

2

3

4

5

6

7

5

A+3�

 

A6.3
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f�� 1��26  
���D��� ���X  

����� ��	 
0 1 2 3


��
��� ��	  
(QNO) 

1 1 2 4 8

2 2 4 8

3 3 6 12

4 4 8

5 5 10

6 6 12

7 7 14

8 8

9 16 32 64

10 18 36 72

11 20 40 80

12 22 44 88

13 24 48 96

14 28 56 112

15 52 104

4.4   ����� ��	���� ������(VLC)  

 �G#�
�� "# 1-�t&�� �	�
5 �+ 1���� ��	3&�� 6�0&��AC  �G#�
�� "# �]~I �I �L�� .1��v>� /�-	3&# ����� rE /�-
R��
AC  /����O WY�8 �	��&&��DCT  WR0�� � "�	��� k	.�&�� b�K�v 1���� /��	3&# /��0$ �+6�0. ��l36 W	30&�� 1�v ,-�
�� .

(Run length)  ^��.A��(Amplitude) ~�
 :���  
:W	30&�� 1�v   �G#�
�� 8�5AC ��B�� rE x-
R� �	��&&��  

      0 = run) F… F(61 

  :^��.A�   �G#�
�� �
$ /����# �K���� �
	K��AC ��B�� rE /�-
R�� �	��&&��  
      0 = amp) F… F(255 

Run) F(amp:  ^��.A�� W	30&�� 1�v \�i.  
 1��f� "�	���27  \�M�� ��$�K�� /��0�� ��
�~ 1�vrun) F(amp 1��f� �� .27 FA /+) �#G
�� �&$ WY�.� 1�v � (

 ^��.A� D�R� �#�!5� ./��0�� ��
�~A  ��K$ b��M�� /��0�� 1�v 8�M� F��B�� �����1  .^��.G� �#G
�� �&$ "5 6�
&��
 1��f� "# �	��p� ��
-$��� ��27 \�M�� /��0�� �
�~ "5 �-�
� Frun) F(amp "# �5�
e© 1 − run) F(0 �0) F(amp.  

 \�M�� /��0�� ��
�~ nB«�run) F(amp ~�
  1��f� � "-	�# �+28 �+ /��0�� ��
�~ "# ���	�� rE �&$ xB�I� .
 ��A8 �]~>� �&���(MSB) ��A8 W�>� �&��� �+ /��0�� ��
�~ "# s
	�� rE �&$ xB�I� F(LSB)  1��f� �28 D�R.� .

 �&���MSB KLA /��� �
�~ "# �&��� /����# �	��&�� �+ �(LSB)  �&$ �
	� q@�.� ./����# �NK��. u�� /��0�� �
�~ "#
 �#G
��"s" ~�
 :���  

 W#�
�� D�R� �#�!5AC  q@�� F��B�� "# a~I x-
R��0 = s.  
 W#�
�� D�R� �#�!5�AC  q@�� F��B�� "# �3%I x-
R��1 = s.  

-
R�� �G#�
�� q	C }�	�� D�R. �#�!5� /����O WY�8 ��B�� ����. �	K�&�� /�DCT /��0�� �
�~ �O�@�$ 6�0&�� �	�
5 xN!. F
EOB  �+ u�� (/���O ����)0110b ./��� �
�~ �Y¼ �
$ /����# 
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f�� 1��27  
������ ����_ :��R0 

 

������:  

1   ������ ��	)/+
( ����
 ��.  

2   ������ ���EOB = 4.  

f�� 1��28  
 ������ ����_:���� �"�S�4� ������ &  

(Run, amp) ������ �	
��(Run, amp)������ �	
��(Run, amp)������  ��
�	  

0100s 2+1111111100000s

9+1 

7 2 111110110000s 

12+1 

02010s 3+1121111100001s8 2 111110110001s 
EOB0110 4131111100010s9 2 111110110010s 

110111s 
4+1 

141111100011s10 2 111110110011s 
031000s 52111100100s7 3 111110110100s 
041001s 62111100101s8 3 111110110101s 
2110100s 

5+1 

33111100110s4 5 111110110110s 
1210101s 43111100111s3 7 111110110111s 
0510110s 24111101000s2 7 111110111000s 
0610111s 25111101001s2 8 111110111001s 
31110000s 

6+1 

18111101010s2 9 111110111010s 
41110001s 018111101011s2 10 111110111011s 
07110010s 019111101100s2 11 111110111100s 
08110011s 020111101101s1 15 111110111101s 
511101000s 

7+1 

021111101110s1 16 111110111110s 
611101001s 022111101111s1 17 111110111111s 
221101010s 531111100000s

10+1 

6 0 1111110000110 

13 

131101011s 341111100001s7 0 1111110000111 
141101100s 351111100010s| 

R

| 

| 
0 
| 

1111110

�� �
����� �
��
 �����R 

 R  =6  ��61 
 091101101s 261111100011s

0 10 1101110s 1 9 1111100100s 

0111101111s 1101111100101s61 0 1111110111101 

   

 

��� ����	
� 

������

0 

1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 

13 

14 

15 

61 13 

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 255 

11 2 3 4 4 5 5 6 6 7 7 7 8 8 8 8 8 8 9 9 9 9 9 9 15 15 

11 

12 

12 

12 

12 

13 

13 

13 

13 

13 

13 

13 

13 

13 

13 

4 5 7 7 8 8 8 9 10 10 10 11 11 11 12 12 12 

12 12 12 12 12 10 9 9 5 7 8 

6 8 9 10 10 11 12 

6 

7 

7 

8 

8 

8 

8 

9 

9 

9 

9 

8 9 

9 

9 

12 

12 

12 

12 

10 

11 

12 

12 

11 12 



�������  ITU-R  BT.1620-1  

  

54

f�� 1��28 )����(  
7111100000s

8+1 

1111111100110s 0 23 111111100010111s 

15+1 

8111100001s0011111001110
11 

0 24 111111100011000s 
9111100010s1011111001111

| 
0

| 

| 
A

| 
1111111

 �
���� �
�����
 �����A 

 
A  =23  ��255 

s
10111100011s6311111010000s

11+1 

3211100100s4411111010001s

4 2 11100101s3 6 11111010010s 

2311100110s11211111010011s0 255111111111111111s 
1511100111s11311111010100s    
1611101000s11411111010101s

 

   
1711101001s20111110101100

12 

   
01211101010s30111110101101   
01311101011s40111110101110   
01411101100s50111110101111    
01511101101s        
01611101110s        
01711101111s        

5.4  ������ ��!�" #$%&' �(	)�)  

 �J�� �v�34# �
h�� /���O W~ �� .�v�34# �
h�� ���O �¹ "# �v�34�� �����	��� �
�K�� D-�R&.77  "# �&��$
~ �v�34�� �
h���� /������� ��	.�. D�R.� .��	�
���
  WR0�� "-	��37.  

STA (�v�34�� �
h���� /������� q@�).  
STA  �+ ��&$ q$�I "# D-�R&�� F�v�34�� �
h���� /������� � c��Y��� ��p� ��#��
# "5 ���
�s3 Fs2 Fs1 Fs0 ��
�� .

 1��f�29  q@��� �����
.STA.  
QNO  (�	
R&�� }��) �  M#���QNO  }���� /��0�� ��
�~� .�
h���� /������� x�5 _-���� �	
R&�� }�� �+QNO  � �!-	�#

 1��f�30.  
DC  

DCI  �	L)1  /������� ��.� �+DCT  �
h���� /������ �7,…,0 = 1 W#�
�� "# D-�R&� (DC  U��hI "#�DCT  }�� "#�
 /����� �!B��DCT.  

         MSB                                                            LSB 

DCI :   b8  b7  b6  b5  b4  b3  b2  b1  b0  mo  c1  c0 

�	L    
 b8  rEb0W#�
�� �
	� :DC

 mo U��hI :DCT

   WJI "#0 = I 0U��hI =DCTW.���$8�8

     1U��hI =DCT1�±�$8-8 
   WJI "#� 1 = IrE7_LA 1�

&hA /i�e� �&$ 
    �
	K�� x�5 q@�. k	3&�� �
	��1

 :c1  c0  �!B�� }�� 
AC  
AC  �G#�
�� rE M#�� Q�5 ����B#AC  �����	��� �
�K�� WY�8 1���� �-	3&# b�6�0. /�d�0��V h,i,k _v�!��� .Y0 FY1 F
Y2 FY3 FCR0 FC1 FCB0 FCB1   _v�!�� "# /�L�� W~ D-�R&.� F�v�34�� ��	�
�� _v�!# ��I x�5 ,-�
.Y0 FY1 FY2 F
Y3 FCR0 FCR1  "#80 s&K�!�� "# /�L�� W~ D-�R&.� F�&$CB0  �CB1  "#64 ~ F�&$�
  WR0�� "�	��37 nB¨� .DCI 

 �G#�

�� 1���� /�-	3&�� /��0���AC  /������� �DCT  /������� }�� �N	O D�R� u��DCT  �+h,i,j,k,l �K�!# ����$ "# F
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 �v�34�� �
h���� /������� � �v�34�� ��	�
��CM h,i,j,k WR0�� �� .37 "# b�c�$ 1���� /�-	3&�� /��0�� �
�~ �
@� F
 �&���MSB  �&��� rE ����	�� k=�f� x�5I � /8�J���LSB k=�f� W�hI � /8�J���  ��	�
�� D�O �	�5� .�	
	��AC 

 ����M�� "# �5-i�#²
	�� ����M�� rE �	�
�� P��	�� .x�����  

0��� WR37  
������ ��	
� �
���� ������  

f�� 1��29  
 �R�ST4� ��5���� �#=�$��� +i; Q����(STA)  

 ���STA �����	
 ���
�

 ������

 �� �������

s3 s2 s1 s0 ��� ����� ��� ���
!"��


0 0 0 0 

# ��� �$�� 

Not proceeded %%%%%

0 0 1 0 &"'

A

0 1 0 0 &"'

B &"'

a

0 1 1 0 &"'

C

0 1 1 1 (�$�� ��� %%%%% %%%%%

1 0 1 0 

# ��� �$�� 

&"'

A

1  1 0 0 &"'

B &"'

b

1 1 1 0 &"'

C

1 1 1 1 (�$�� ��� %%%%% %%%%%

�)*+ ,�-.
���  

 ����	A: 
���	 
 ������	 ���	��	 �������	 ��� ��� !" �����" ���	# ������$ ��%�&"  '$()�	
.��*(&"  
 ����	B:  +(,�	 
���	 
 ������	 ���	��	 �������	 ��� ��� !" �����" ���	# ������-$ ��%�&"
.��*(&"  
 ����	C: .�/%�0 12 3(�45	 �67�� 89 12 ;�%��< ������	 ���	��	 �������	 =>?  
 ����	a:  (@�A B�	 ������	 ���	��	 �C����	 !" =12 D" E(�F��	 �G(�" D$(,� �7�	��,�	 8H0 = s0 

#s3 = 0 .�����" J? �7�7����	 ��F6�	 ��� 
  
����	 b: .�����" K)�� ������	 ���	��	 �C����	 !" =12 D" E(�F��	 �G(�" D$(,� �7�	��,�	 8H  

������  
1   ("��L0111b = STA ;.M�(�4 	>?# .������	 ���	��	 �������	 
 NFO	 ���* P���  
2   ("��L1111b = STA ;Q .NFO	 DR�" S��,7  

1620-37

..... ..... ..... ..... ..... .......... .....

D

C
1

D

C
2

D

C
0Q

N

O

S

T
A

AC AC

10  bytes

3 4 5 14 15 24 25

AC

Y0 Y1

10  bytes

7

D

C
6

D

C
3

D

C
4

D

C
5

CB1
CB0CR1CR0

34 35 44 45 54 55 79

AC

64 65

AC AC

72 73

AC AC

Y2 Y3

10  bytes 10  bytes 10  bytes 10  bytes 8  bytes 8  bytes

D

C

(���� ���	
 ����
)

	
 ����
)
� (����

�&����� q��# }��
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f�� 1��30  
 ���D��� ',�� ������ ����_(QNO)  

/0� ���Q
QNO 

q3 q2 q1 q0

0 0 0 0 0

0 0 0 1 1

0 0 1 0 2

0 0 1 1 3

0 1 0 0 4

0 1 0 1 5

0 1 1 0 6

0 1 1 1 7

1 0 0 0 8

1 0 0 1 9

1  0 1 0 10

1 0 1 1 11

1 1 0 0 12

1 1 0 1 13

1 1 1 0 14

1 1 1 1 15

6.4  �
�
%	��� ������ �(	)�)  

|. �G#�
�� q�i�. �K��v }�K�� �*+ � ?�0AC  �����	��� �
�K�� k-.�.� ./�-
R��CV h,i,k  �
�]# ��&��� 1�
# w�Y �
$
 WR0�� � "�	�# �+38 M#��� �-�
�� .�v�34�� �
h���� /������ 8�

�� � �J�.� .F h,i,j,k,l  �v�34�� ��	�
�� �K�!# "5

 /������� �DCT /������ }�� �	L FDCT  �+h,i,j,k,l �=�R$ ,-�
�� ��&��� q$�&. D-�R&�� .B h,i,j,k,l  ��	�
�� "#
��:�	��&�� �����&  W#�
��DC U��h>� ��#��
#� FDCT W#�
�� /��� ��
�~� F�!B�� }��� FAC  /������DCT  �
d����

h,i,j,k,l �G#�

�� /��0�� ��
�~� .AC  q$�&&�� �B h,i,j,k,l  WR0�� � 8����� k	.�&�� b�
�. W���&. ,�h36 �Y¼� F
 D�R. /��� �
�~EOB R.� .(/����O ����) ��A8 �]~>� �&��� D�(MSB)  W�>� �&��� �	��&�� �&��� �+ �KLG�� /��0�� �
�~ "#

 ��A8(LSB) ./����# �N��� �
����� /��0�� �
�~ "#  
��&.�:�	��&�� �G]�� WL���� "# �����	��� �
�K�� ��	.�. �	#i���Y �  

:���� ���	
�  q$�&&�� q�i�.B h,i,j,k,l .�v�34�� ��	�
�� �K�!# x�5  
:���
��� ���	
�  q$�&&�� "# �K�&�� wo���� q�i�.B h,i,j,k,l .�v�34�� �
h���� /������� ��= � r�>� ��L��� �	�
5 �
$  
:���
��� ���	
�  q$�&&�� "# �K�&�� wo���� q�i�.B h,i,j,k,l �	��� �
�K�� ��= � �	=�]�� ��L��� �	�
5 �
$ �	#i���Y� ����

:�+ �����	��� �
�K�� ��	.�.  
for(h = 0;  h < 4;  h ++) { 
    if (60 Hz system) n = 10;  
    else if (h = 0) n = 12; 
    else n = 11; 
     for (i = 0;  i < n;  i ++) { 
          if (i < 11) { 
               a = (i + 2) mod n;  
               b = (i + 6) mod n;  
               c = (i + 8) mod n;  
               d = (i + 0) mod n;  
               e = (i + 4) mod n; 
               p = 2; q = 1; r = 3; s = 0; t = 4; 
          } 
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          else { 
               a = b = c = d = e = 11; 
               p = 0; q = 1; r = 2; s = 3; t = 4; 
          } 
          for (k = 0;  k < 27; k ++) { 
   x = a; y = p; 
   VR = 0; 
   /* VR is the bit sequence for the data       */ 
               /*    which are not distributed to video segment CV h,i,k by pass 2. */ 
     /* pass 1 */ 
               for (j = 0;  j < 5; j ++) { 
                    MRy = 0; 
       /* MRy is the bit sequence for the data     */ 
       /* which are not distributed to macro block M h,x,y,k by pass 1. */ 
       for (l = 0;  l < 8; l ++) { 
  remain = distribute (B h,x,y,k,l,  F h,x,y,k,l); 
  MRy = connect (MRy,  remain); 
       } 
   if (y == p)  {y = q;  x = b;} 
       else if (y == q)  {y = r;  x = c;} 
       else if (y == r)  {y = s;  x = d;} 
       else if (y == s)  {y = t;  x = e;} 
       else if (y == t)  {y = p;  x = a;} 
               } 
     /* pass 2 */ 
               for (j = 0;  j < 5; j ++) { 
        for (l = 0;  l < 8; l ++) { 
  MRy = distribute (MRy,  F h,x,y,k,l); 
        } 
        VR = connect (VR,  MRy); 
   if (y == p)  {y = q;  x = b;} 
       else if (y == q)  {y = r;  x = c;} 
       else if (y == r)  {y = s;  x = d;} 
       else if (y == s)  {y = t;  x = e;} 
       else if (y == t)  {y = p;  x = a;} 
               } 
     /* pass 3 */ 
               for (j = 0;  j < 5; j ++) { 
        for (l = 0;  l < 8; l ++) { 
             VR = distribute (VR,  F h,x,y,k,l); 
                    } 
   if (y == p)  {y = q;  x = b;} 
       else if (y == q)  {y = r;  x = c;} 
       else if (y == r)  {y = s;  x = d;} 
       else if (y == s)  {y = t;  x = e;} 
       else if (y == t)  {y = p;  x = a;} 
               } 
          } 
     } 
} 
 
where 
     distribute (data 0, area 0) {         /* Distribute data 0 from MSB into empty area of area 0. */ 
                                                        /* The area 0 is filled starting from the MSB.                     */ 
          remain = (remaining_data);  /* Remaining_data are the data which are not distributed. */ 
          return (remain); 
     } 
     connect (data 1, data 2 ) {     /*  Connect the MSB of data 2 with the LSB of data 1.    */ 
          data 3 = (connecting_data);  /*  Connecting_data are the data which are connected.  */ 
        /*  data 2 with data 1.                                                       */ 
          return (data3); 
     } 
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IEC 61834-2 (1999), Recording – Helical-Scan Digital Video Cassette Recording System Using 6,35 mm 

Magnetic Tape for Consumer Use (525-60, 625-50, 1125-60 and 1250-50 Systems) – Part 2: SD 

Format for 525-60 and 625-50 Systems – Part 3: HD Format for 1125-60 and 1250-50 Systems. 
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